-4

Ry

s BT R TN - 2039 Trates oc ¥, 2022
b i ol 2021 [NRAMIINEN
BOOKLET No. E15 a5,
307153 esTgfReT
|HTA AT - 11 W T : 150
¥ 2 () T TERYT T[0T : 150
L Ll

(1)

(2

(3)
(4)

(5)

(6)

(D

T Y160 TFEd v e, IAcEr WAt 3o fifdvare geaw wwargEt a1 yegfeaa wd
T T T Trfia Al wnl e el J89 3 FId AT JTeRad € ST auAAwEed e

wee . .
e Wl T | o - T
7 Terera wieremm fagman. i’_ﬁl.i ﬁ e o

o BIAAT TFYFREHT FHH oAl Ioatrpan fafire srft seafEsadie garmm 3 e 398 =
(31) I TEYREIE Toiw T 4 vatfi s gafael s/ = 1, 2, 3 onftr 4 3@ wuiw feee e,
1 SR IAIH! Gl A I HHIE ITERE RO e JatdiRa T w3
YhR ITUEFal ITCHAIS TG HAHT A HEiUq T HHIFEHR STdifhd e gHiaen Jse arh

- T T, PTERlET wa wmreT T Ateds e, 1R ar R 99 e .
(®) mmmmmwﬁmﬁﬁaﬁﬁmﬁmmmmm

Wmmw@mmmmm,mmm

ot A TeETe angA ugra.
T WA §EE T AR, IRGd g9 Wil I U, aige g B A 9Tl gEa U wes
foaen IR WY dieadd. FEM T Gefau SRt o U et e w4107 arecard el 96
ATARET gée TATHS 9@, I WHR Fee FEd Neeearw 9% Riees Uftea S mvm
TSN T¥ATHS WUl HIsEt 3.
ITEGFG THT TG Hed IR WISd AUR A, PR helet I Wigd Fo9H IR Geam o qaEt Ao
ATE. THIET A I TG Hed™ § I FhD WA A 9 w1 G ITE 0 G Fe A,

WA YigreaT STAhTe e AT SHETRIeaT I Nahdiet U ST ur e s, ad=
“Wnﬁwﬁwawﬁwmmﬁﬁwwmﬁmmmmm

TTE, AT e Iadtea drsfieean g gehiear Iaaiar 26% fEa 1/4 vEg qur ggw

Wmmd’tmﬁ?ﬁa”

o wyafEFaE s fafge Feel 4w dtvda @ gygfee snam wremn g f wlignesra stgaren
TigrTdt aTrvaTe Yvare A9 oM. f dw wiwda wen wgicad et wa/udt, far aew svgieesdie sd s
IV FEUT Seay @1 AOTEHat Hiorardl s qiiEy, v wiing o g e o anft gt s
el AT TR e “aligimed gromen ity wiea sreararaa sifafae-82” ardie wgdiaen
mmmwmmmawmwmmmm/mm
T TR e dEre=an fgra o g,

ad™ T wrAaReRwd fafim e 4w davaemdt # syt smftgauot BT 3 g e o a9 W
=t ST e, e vigem wRwRadr saet aid st saeEifreg ST sifafamaEn

——
g graRTeaT goeAEET 2 e 3ag S

x|

IR TFA T A et e e de.

Ve I SaresrgiTraas==aT

AT gt Oar



E15

2
THeedl FHTATS! WHTT/ SPACE FOR ROUGH WORK

B




A 3 . ' E15
1. onfag ol 9 o e widtaraa gdiet 3 fur wEm o
(a) 9 IE.AE.A. gEga weh faemff onga.
(b) AT UM YoEeAl 2022 Hed ween faumay e 117 ¥ 92 faenft fasm
Fhedh ar faum/A e :
(1) %= (a) TR (2 wE (b) T
(3) (a) 3T (b) I wK (4)  (a) InfU (b) T SO A
Consider the following two statements about Arvind Kejriwal and Aam Aadmi
Party : :
(a) He is an alumni of IIT Mumbai.
(b) In the (2022) assembly elections held in Punjab, his party won 92 of the
117 seats.
Select the correct statement/s from the above :
(1) Only(a)is right _ (2) Only (b) is right
(3) Both (a) and (b) are right (4) Neither (a) nor (b) is right
2. GIcie 91 T&d Al

(a) v ousefie var=f TawAT 3 HTaRIE, 1957 TS Sve.
(b) TA. Rieww ¥ RPI X wow orems 8.

(¢) TS qftR T, 1948 "el T,

(d) it wEeh, @it T@EIEe guE & s giwes 39 2 .

TS 3 HUT FUR AR ?
(1) =eE (a) . (2) = (b)
(3) FU (c) , (4) SO T

Consider the following statements :

(a) The Republican Party of India was formed on 3™ October, 1957.
(b) N. Shivraj was the first President of RPL

(© " The Ramrajya Parishad was formed in 1948.

(d) Swami Karpatri, Swami Swaroopanand Saraswati were leaders of Ramrajya

Parishad.
Which is the incorrect statement from the above ?
(1) Statement (a) (2) Statement (b)
(3) Statement (c) (4) None of the above

FFeegT BHTHTSI ST / SPACE FOR ROUGH WORK P.T.O.
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QElTeR ARETT <hIvIET fgell Toehia Uel 371g Sare TP val wevd w1 fiesredt ammg ?
(1) o figeq ardf (wa.di i)
(2) fia e FAERE THEH e (T34, .0%.)
(3) fistt 9y e (TH.TA.US. )
(4) A A Tfasy ael (v dtd)
Which is the first political party from North-East India to be recognised as a
National Party ? '
(1) National People’s Party (NPP)
(2) All India United Democratic Front (AIUDF)

(3) Mizo National Front (MNF)
(4) Nationalist Democratic Progressive Party (NDPP)

HEf TH — HgoH qEHR= THe.

(a) ;ﬁ@mmmﬂﬁﬁaw@m(m)eﬁm 1976 "X
(by T g GHIS 9T (FFQ9T) =t TATFT 1984 HEA Hehl,

() ThY |l & WIS GHaT Wed hvar= TEfheel] 18, 3@ &= W &id.
() ¥ cfr iR gue 5aY i (D)o@, wR) 3 SeTs 9.

FOAET FIoEh Fo T TR ?

(1) %« (a), (b), (d)

(2) T (b), (c), (d)

{3) a4 (a), (c), (d)

(4) % (a), (b), ()

Kanshi Ram — A proponent of Bahujan Empowerment.

{a) He founded The Backward and Mlnonty Communities Employees Federation
(BAMCEF) in 1976.

(b) He founded the Bahujan Samaj Party (BSP) in 1984,

(¢) He regarded political power as a master key to attaining social equality.
(d) He was a founder of Dalit Shoshit Samaj Sangharsh Samiti (DSSSS). -
Which of the statements given above are correct ?

(1) Only({a), (b), (d)

(2) - Only (b), (¢}, (d)

(3) Only(a), (¢), (d)

(4) Only (a), (b), ()
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A 5
Hre=t Jo5ar :
HITR TS A1
(a) e 3fEn 3 gfaa sliw (amaes) @)
(b) 3 ma s ghaa S (329) (ii)
(c) wHdE T €9 CIACREN (iii)
(d) et A% 3fea o8 ghem (Rg) (iv)
o W
(a& - (b) (c) (d)
L GD (iii) (iv) )]
(2) (ii) (iv) @ (ii)
3 0 (ii) (ii1) (iv)
(4) @Gv) (i) (1) (iii)
Match the pairs :
Name of Trade Union
(a) All India Trade Union Congress | @)
(AITUC)
(b} Indian National Trade Union an
Congress (INTUC)
(¢) Bharatiya Mazdoor Sangh (BMS) (ii1)
(d) Centre of Indian Trade Unions (CITU) (iv)
Answer Optiom_s :
(a) (b) (c) (d)
(1) @i (ii1) @v) i)
(2) (i) (iv) 1) (i1)
@ G G (iii) (iv)
4 Gv) (i1) @) (iii)

E15

FIOTT QYT WerH g ?
g Sar @ (WeT)

Rt e 9 (aredard)
(@) -

iy Fgie ag (Hd.em.)

e T i (s L)/
Fia ()

Associated with which party

Bharatiya Janata Party (BJP)

Communist Party of India
(Marxist) (CPM)

Communist Party of India (CPI)

Indian National Congress (INCY
Congress (I)

FTEYT BETAIS AT / SPACE FOR ROUGH WORK
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6. e smar — (REat dwan 76 gahg Fmid)

(a)
(b)
{c)
(d)

GA’
()
1991
1998

1999
2004

gt I :

(1)
(2)
(3)
(4)

(a) (b) (c)
1) G1v) (i1)
4} (iii) (ii)
(i) (ii) (i1i)
i) (iii) Giv)

(1)
(i)
(iii)

(iv)

(d)
(iii)
(iv)
(iv)
(ii)

‘B!
(wgeq g@)

4
12

6
15

Match the pairs — (Political achievement of Shiv Sena in Lok Sabha)

(a)
(b)
(e
(d)

‘A’
(Year)

1991
1998
1999
2004

Answer Options :

(1)
(2)
(3)
(4)

(a) (b) (c)

(i) @iv) (i1)
(1) (1ii) (ii)
(i) (ii) (iii)
(1) (iii} (iv)

(d)
(iii)
(iv)
Gv)

(i1)

‘B!
{No. of Members)

@ 4
Gi) 12
i) 6
@v) 15

FroeqT SIS STR / SPACE FOR ROUGH WORK
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JIS JEr — (WA e TR 9E)
‘A

(T=rhirg uer)
(a) SHTRraTeR HRgror Wit () afEm e
(b) FAEeE SHIRfEH T (ii)
(c) -aHlore SHIhies qae (iii)
(d) Tl anifa T (iv)
it I

(a) (b) (c) (d)
(L Gi) (iv) (iid) @
(2) (iv) (iii) (ii) ()
(3) (i) (ii) (1 {iv)
(4) (i) (iii) (iv) (1)
Match the pairs — (Regional Parties of India)

‘A? B

(Political Party) (State)
(a) Janadhipathya Samrakshana Samithy @ West Bengal
(b) United Democratic Party . (i1)- Kerala

“{¢) Nationalist Democratic Movement (iii) Meghalaya

(d) Revolutionary Socialist Party (ivy Nagaland
Answer Options :

(a) (b) (c) (d)
(1 Gi) (iv) (iii) i)
(2 Gv) (iii) (ii) (L)
(3) (iii) (ii) i) (iv)
4 G (iii) (iv) (D

FF0ET SIS STFT | SPACE FOR ROUGH WORK - P.TO.
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SEST oA

(Trrhry agr)
(a) WT=T9T
(b) fera@m
(c) 9 T (FTERS)
(d) Frmeft smepEh o=
T I

(a) (b) (e)
(1) (i) Gy (ii)
(2) (ii) (i) (iv)
(3} GiD (iv) (i)
(4) (iid) (iv) (ii)
Match the pairs :

(Political Party)
(a) BJP
(b) Shiv Sena
() Janata Dal (United)
(d) Shiromani Ak.a.li Dal
Answer Options :

(a) (b) (c)
(1) (i) ) (i1)
(2) (i) (1) (iv)
(3 Gii) (v 6
(4) (i) (iv) (i)

(175 SreawT (2019) Fa=odr
7l Rreerear smm)
i) 16
GGy 02
(iii) 303
(iv) 18
(d)
(iv)
(ii)
(i)
i)
(No. of seats won in 17th
Lok Sabha (2019) Election)
(i) 16
i) 02
Gi) 303
(iv) 18
(d)
(iv)
(ii)
i)
(i)
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| ENg YA HISET —

(1)

(2)
(3)
(4)

ﬂmwmqumﬁﬂwuwmmwmmqamﬁm
T 1885 AL wedl.

1. wEtE & T 22 9, 2004 Vs gasgge=h yao Saed.
1998 A= @ifn M I FiW tae Teagae fEawRE.
14 =1 AN TEY (2004 — 2009) HiFw TGN 150 Y& GHITE 2.

Select the incorrect statement —

(1)

(2)
(3)
@

Indian National Congress also known as Congress Party is a major political
party and was founded in 1885.

Dr. Manmohan Singh was sworn-in as Prime Minister on 2274 May, 2004.
In 1998, Sonia Gandhi accepted the presidency of the Congress Party.

In the 14th Lok Sabha (2004 — 2009), 150 Congress Party members were in the
House.

10. wi@ g (fdie) 9 B

(a)
(b)
(©
(d)
(e)

TR dard
R RECY
it g
RS gt
R

g I :

L
3)

%4 (a), (b), (d) (2) % (a), (¢), (d), (e)
% (a), (b), (c) 4) w# (b), (¢), (d), (e)

The leaders of the Congress Party (Syndicate) were

(a)
(b
(c)
(d
(e)

Morarji Desai
Sanjiva Reddy
Ashok Mehta
Sharda Mukherjee
Narendra Dev

Answer Options :

(1}
(3)

Only (a), (b), (d) (2) Only (a), (), (), (e)
Only (a), (b), (c) | (4) Only (b), (c), (d), (e)

FEEAT HTHTHIE! SIAT / SPACE FOR ROUGH WORK : P.T.O.
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11. O fuEA ofear
(a) e Pragwdt s wwarat faens swm Ik HE.
(b) Tauraw Fasyhi=t siftmen o0 fasm s Sén =@,
It I : ' |
(1) % {(a) (2) BF (b)
(3) (a) afr (b) I (4) (a) 2T (b) et ekt
Select the correct statement/s :
(a) Election Commission of India issues notification of Lok Sabha election.
(b) State Election Commission issues notification of Assembly Election.
Answer Options :
(1) Only (a) (2) Only (b)
(3) Both (a) and (b) (4) Neither (a) nor (b)
12. 9 HYE el -

(a) TR® adn meiae Affd Wi Foiea o ifw & Er 3 wma

RwiEd for, dner 28 weft R,
(b) ToaH=T T HeA gFe Ued WG S 62 SiqaRieh HaiEt g e T .
(c) FoEIUHGT WA I 2004 = AhaH] FEHS HasvEha FuaE e
gt 3wt :
(1) =K (a), (b) (2) e (b), (c)
(3) ®a (a), (©) (4) wfawd

Select the correct statements —

(a) The Electronic Voting Machines have been manufactured by Electronic
Corporation of India Ltd., Hyderabad and Bharat Electronics Ltd. Bangalore.

(b} Ome control unit of EVM can record the votes polled by a maximum of
62 candidates.

(¢)  Universal use of EVM was done in the year 2004 in the General Election to the

Lok Sabha.
Answer Options :
(1) Only (), (b) (2) Only ®), (©)

(3) Only(a), (c) ‘ (4) All of the above

ZFEEAT BHETATS! ST / SPACE FOR ROUGH WORK
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A 11 , E15
13. O= faumA =
(a) 2014 W& AT AMMESAT A0 fa=EeT qagr Hurean fagphla VVPAT =1 vom
9L F0GTd AT Bl
(b) 2014 =0 A FHasvhia Wiade 12 aes guda AagrRaard VVPAT S
. Ima.
gt 39
(1) %= (a) (2) % (b)
(3) (a)d (b) I (4)  FhY ST
Select the correct statement/s :
(a) VVPAT’s were first used in bye-election to the Noksen Assembly Constituency
of Nagaland held in 2014.
(b) VVPAT’s were used in 12 selected Parliamentary Constituencies in India in the
2014 Lok Sabha elections.
Answer Options
{1) Only(a) (2) Only )
(3) Both{a) and (b) (4) None of the above
14, 3F ®¥H ASE@T -

(1) Y™ 77 Frasvm A 300 Tgadigh Fell .

(2) 7= Fasvm ngET wRERS 5 T8 fhar qardt 65 9 I9H I ot AT @ v
(3) =T FNASUH Mg THT RAT=N Tare FRTearda aravdis sao g .

(4) TEd PESUS AGHIT T YeTae HEiRTgR §ae geq, v, |

Select the incorrect statement —
(1) The President appoints Chief Election Commissioner of India.

(2) The tenure of Chief Electi_on Commissioner is 5 years or up to the age of
65 years, whichever is earlier.

(3) The Chief Election Commissioner enjoys the same status as the Judges of
Supreme Court of India.

(4) The Chief Election Commissioner can be removed from office only through

impeachment by Parliament.

HoegT BHTATE! AR / SPACE FOR ROUGH WORK P.T.O.
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15. Grefie faur faemd o

(a)

(b)

(c)

(d)

a&mﬂm(wmﬁu)aﬁmﬁﬁwﬁmazs,ooomwﬁrmﬁm
fraevE deva@Edt 10,000 T GUAT SFHT WHH ATEGTIH I8,

Igfa Sd/eTga S eIE AeEREdt 5,000 Y @RA AT O
RrameEvarEl 2,000 T AT SFAHE WHR WOE AN,

uftem semHiE 2019 =N diwa RasvE T 9ETE el S e ud
IhEETE G I ST et g _ |
qiFem S Teera ST AT W /e 1977 2011 19t Tpor 34 ¥ Fft,

TR o/ faum/A 5% A ?

(1)
(2)
(3)
4)

(a) A (b)
(a) 3% ()
& (b)

(b), (c) ST (D)

Consider the following statements:

(a)

(b)

(c)

(d

It is mandatory for the general candidate to deposit security amount of
Z 25,000 in case of Lok Sabha and ¥ 10,000 to fight an election in State
Assembly constituency.

Candidates belonging to SC/ST have to deposit security amount ¥ 5,000 in case
of Lok Sabha and ¥ 2,000 in case of State Assembly.

All but one Left Front candidates lost security deposit in the 2019 Lok Sabha
polls in West Bengal. | '

Left Front ruled the State of West Bengal for 34 years from 1977 to 2011.

Which of the statements given above is/are incorrect ?

(1)
@)
3)

4y

(a) and (b)

(a) and (c)
Only (b)

(b), (¢) and (d}

YT HIHTATS! SR / SPACE FOR ROUGH WORK
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& 13 E15
et o fremfeT S sR/eTRa ?

(a) Ihearh g 39 (feuilR) w@ wwarsw wewia fagvs wefvear sigarn s

T TR HaT T okl NOTA g9t e Jai=l S@e Haeh 3.

(b) W NOTA 9ot fagum=a Aaeras §&a1 € HI0cTd! SRS I HaTqeln sea STae
i wgEE 7 W FOn IHgER o weas 9ifta e I

ot I : .

(1) & (a) 2 %= (b)

(@) (@) T (b) T IR (4) HUAE T AT

Which of the following statements is/are correct ?

(a) The votes polled against the NOTA option are taken into account for
calculating the total valid votes polled by the contesting candidates for the
purpose of return of security deposits to candidate.

(b) If the number of electors opting for NOTA option is more than the number of
votes polled by any of 1:her candidates, the candidate who secures the larger
number of votes has to be declared elected.

Answer Options :
(1) Only (a) (2) Only (b)
(3) Both (a) and (b) are correct . (4) None is correct

17.

(a) WoERERRT (39 =) (b) iR (IW w=ew)

(c) 99 (S qew) (d) IR-ufvm feesh (feeh)
‘ﬂl‘hﬂ‘ :-'Rﬁ :

(1) (b),(d),{c), (a) 2) (o), (d), (b), (a)

(3) (a), (c), (d), (b) 4} (a), (h), (c), (@)

Arrange in descending order the Parliamentary Constituencies in terms of number
of electors.

(a) Malkajgiri (Andhra Pradesh) (b) Ghaziabad (Uttar Pradesh)
(¢ Unnao (Uttar Pradesh) (d North-West Delhi (Delhi)
Answer Options : 7

1 M), @), (), (@) @ (©, @, D), @

@) (@), ©, @), ® | @ (@, ®), ©, @

T FETVIS! SR / SPACE FOR ROUGH WORK ‘ P.T.O.
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18. Wiefic Y- A4 AT — (IhE |EAT)
(a) SR AR AIATIT TSR W& TRINE hetel 8 o gudg fhar faumen aaer
T SHGEI=AT TG FH1EE 10 Fieviiea Hagri=! gas TV SEvaehal 35,
(b) TFAATIT TIEF Y@ FEA FAAT IUGAAT TadIq Ford e Paehial AEwIhar

¥,
Sl S HY9A = AR/ ?
(1) % (a) (2) % (b)
(3) (a) T (b) T . (4) aH T

Consider the following statements — (No. of Proposers)

(a) The nomination of a candidate in a Parliamentary or Assembly Constituency
should be subscribed by 10 registered electors, if the candidate is not sponsored
by a recognised political party.

(b) In the case of a candidate sponsored by recognised political party, only two
proposers are required.

Which is/are the correct statements among the above statements ?
(1) Only (a) (2) Only(b)
(3) Beoth (a) and (b) (4) None of the above

19, R HYEA ASET —

(a) 2016 U 5 TSI 6 wnTeAl U2 Fasvhia Igan= smrm Aquferer fteg
ATV AT .

(b) 3ieaw= T Nty == e T Faeys fok asame safes Reom 24,

(¢) SR INCEAR DT WEH HOAM ST STAT, T Al IHGARS AT ATHRUIR SHRT
.

it I : .

(1) %= (a), (b) (2) %A (b), (c) (3) % (a), (c) (4) % (¢)

Select the incorrect statements —

(a) In June 2016, bypolls to six seats in five States were first elections where
photographs of candidates were used on ballot papers.

(b) The photograph will appear between the name of the candidate and his or her
election symbol.

(¢) If a candidate fails to provide the photograph, it sha.ll be ground for the
rejection of the nomination of candidate.

Answer Options :

(1) Only(a), (b) (2) Only (b), (¢) (8) Only (a), (c¢) (4) Only(c)
T HHIE! ST / SPACE FOR ROUGH WORK




20.

15 ' E15

‘e Fraeu e wree foue e e :
(a) W Gfyarrde o17=3g 323 fasus 2mimsh wefta anz.
(b) sy sm fweefia o,

(c) WA Pasvs A s Masu® TR T +m.
iRl Hivr e/ Tt sTEa ?

(1) %% (a) (2) % (b)

(3) (a) 0fin (b) (4) (b) 31T (c)

Consider the following statements about ‘Election Commission of India’ :

(a) Article 323 of the Indian Constitution is related to Election Commission.

(b) The Election Commission is a three-member bedy.

(¢} The Chief Election Commissioner appoints the other Election Commissioners.
Which of the st'atements given above ig/are correct ?

(1) Only(a) (2) Only (b)

(3) (a)and (b) ' (4) (b)and(c)

21,

Wi geu gitesred (PCI) Eiefiedhl i faum g6 o 2
(a) < = FfauEES AT IR,

(b) frht T 1966 TR FUAG AT,

(¢) PCI ¥ 9= e Sa § TSI WY 6w,

LEEL .
(1) % (a) (2) w9 (b)
(3) = (c) (4) S0 TR T

Which one of the following statements about the Press Council of India (PCI) is
incorrect ?

(a) It is a Constitutional organization.

(b) It was formed in 1966.

(c) Five members of PCI are from the Lok Sabha and Rajya Sabha.
Answer Options : _

(1) Only (a) | @ Only (b)

(3) Only{(c) (4) None of the above

o] SIS ST / SPACE FOR ROUGH WORK P.T.O.
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22. e A4 ~ (SARATAAES wiEwr)
. A’
(ufEen wr/SETETeR gfafad)
(a) @iiar €. Red
(b) dim fawdt
(¢) gftrm wwi
(d) wfaar
Qi I
(a) (b) (c) (d)
1) @ (iii) (iv) (ii)
(2) @ (ii) i) (iii)
3) (v) (i1) ) (iii)
(4) Gv) (iii) (i) (i)

Match the pairs — (Women in Media)

& A’
(Woman Journalist/Media Person)

(a) Sangeeta B. Pisharoty
() Seema Chishti
(¢) Supriya Sharma
(d) Kavita Devi
Answer Options :

(a) (b) (c) )
(1 @ (iii) Gv) (i)
2 @ (i) Gv) (i)
@ Gv) (i) @ Gid)
4) Gv) (i) ) (if)

1)
(1)
(iii)

(iv)

GB’

| (SR "TETR/gaaR)

@I BT
51857 Taang

g drRN

‘B’-
(Media/Newspaper)
(1)  Secrollin
(ii) Khabar Lahariya
(iii) Indian Express
(iv) The Wire

T BPHMATS! WIRT / SPACE FOR ROUGH WORK
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23. M HUA ASET —
{a) 1968 WeA Afge T FOTH WG TR JATHEAIS! Hearwfear wiwed.
(b) TEEHA UAHR T GAUAEE! 1978 Tl ewrwfea wwrel.
(c) TS FawgE Yowsfear € 1991 wei RiwgW TREAR TER FOA AR G
TR ATl

u‘a‘i'd’raﬁ:
(1) wad (a) (2) % (b) (3) W (c) (4) =Rl A

Select the incorrect statement —

(a) In 1968, the All India Newspaper Editors’ Conference adopted a code of ethics
for the press.

(b) Rajya Sabha adopted a code of ethics for journalists and newspapers in 1978,

(¢) International code of ethics for press was drafted and adopted in 1991 at the
Stockhom Symposium.

Answer Options :
(1) Only(a) (2) Only(b) (3) Only(c) (4) None of the above

24, WA F9 @G A 9 I FYS ASEl.
(a) W, 2013 AN Vg ~EEid GUCE TR =T AT THE TET Hel.
(b) TR HIeAU™ FIARIAATHA ST THpis FHt I € g ol HRY MR,

(c) WA Jau TREA Yg =prea FeT N sed NAaEr Foaw wrpgfaftic e,
1951 HeA gumon wudl, o7 Rrerg e, '

et I o
(1) %ad (a) 3N (b) . (2) % (b) 2nfvr ()
(3) wad (a) 3T (¢) 4) 0 ad

Consider the following statements and select the correct statements.

(a) A Parliamentary Committee on paid news submitted its report to Parliament
in May, 2018. : _

(by The corporatisation of media and poor wage levels of journalists are reasons for
paid news.

(c) Representation of the People Act, 1951 should be amended to make incidence of
paid news a punishable electoral malpractice, recommend by PCI.

Answer Options :
(1) Only (a) and (b) (2) Only (b) and (c)
(3) Only(a)and (c) (4) All of the above

T PHTHTS] AR / SPACE FOR ROUGH WORK , - PT.O.
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25. wmﬁamwaamﬁrﬁwaaqﬁvmmkﬁaawma
(a) UASNE qEIHT
(b) fruei=h gt v
(¢) USRI Irftymiia wond adum SFEe
(d) wfw Sfsudi=a ageata anmE

(e) R 3 whis ufie ‘

FhATHh! HIUR SN I AT ?

(1) & (a), (b), (c) (2) % (c), (d), (e}
(3) % (b), (c) (4) e (d), (e)

The drawbacks in the way of making the press in India independent and impartial :
(a) Appeasement of journalists

(b) Fixation of advertisement rates

(¢) The present system of accreditation of journalists

(d) Lack of local advertisement support

(e} Inadequate and expensive newsprint

Which of the above drawbacks are incorrect ?

(1) Only(a), (b), (e) (2) Only (c), (d), (e)

(3) Only (), (¢) , (4) Only(d), (&)

26. IENG FEA ABET —
(a) wWuftes wEney gl SEidier gardl Fiesht 2010 — 11 7€ 19-06% a8 2015 — 16
e 19-8% Wa e .
(b) wruftes WISHEd gReW gaist digolt 2010 — 11 T 12-50% @o4 2015 - 16 A

13-8% g« arae R.
It I . _
(1) % (a) (2) % (b)
(3) (a)d (b) QR (4) aH AT

Select the incorrect statement/s —

(a) Enrolment of Scheduled Caste c}uldren has grown from 19-06% in 2010 — 11 to
19-8% in 2015 — 16 at elementary level.

(b) Enrolment of Muslim children has grown from 12-50% in 2010 — 11 to 13-8% in
2015 — 16 at elementary level.

Answer Options : '

(1) Only(a) ‘ ' (2) Only (b)

(3) Both (a) and (b) A {4) None of the above

FFecT HTHIATS! SR / SPACE FOR ROUGH WORK
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27. @AW (SWAYAM) Haum YEie faum fa=mma o=

(a) A WEALE., WRHAL @, nfr oo A, g =i sl .

b) g Tt 9 A veegw wWaw sremasEn Resfam waa.

(c) T gR Pl SR sTvmEsed P Yohet SuTe AR,

(@) - g5h.dt. vEeger faorard @R adla anaEE AR, |

ThHAAH TR frur sdw a ?
(1) (a), (b)), (©) @ (@), b))
(3) (b), (c), (d) (4) ah=th o

Consider the following statements with reference to SWAYAM :

(a) It is developed by MHRD, NPTEL and IIT Madras.

(b) Courses are taught from 92 class to Post-graduation through it.
(¢) Courses delivered through it are available at minimum cost.

(d) UGC is a national coordinator for Post-graduation education.
Which of the statements given below are correct ? '
(1) (a), (b), (c} 2) (a), (b), (d)

3) (b)), @ (4) All of the above

28, ‘ud foen siEmEET GRieRh SR g 3R o ?
(a) dayaW 3ted faEd aEdft a1 sftmme deaTes AR,
(b) ‘watardl frgor B @1 T SvEE IR,
() 3= fagm wrefifiem @ a1 S om.

qai#t I :

(1) %4 (a) (2) % (b)

(3) wF (c) (4) Y vedt T

Which one of the following statement about the ‘Sarva Shiksha Abhiyan’ is
incorrect ?

(a) Prime Minister Atal Bihari Vajpayee is the founder of this abhiyan.
(b) ‘Education For All’ is the motto of this abhiyan.
(¢) Universalisation of Higher Education is an aim of this abhiyan.

Answer Options :
(1) Only (a) : (2) Only (b)
(3) Only(c) " (4) None of the above

FEeg] PTHMIS! ST / SPACE FOR ROUGH WORK P.T.O.
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29, WHid HY- T =41 U J=E w9 ASET

(a) mmwﬁmﬁmmﬂmwﬁmﬂu@aﬁﬁmaﬁﬂﬁzool 2002 7=y
% HOI .

() wd Fe sTfrIer W R T SR sciaTE FRiET TR He .
() wWHIAIva 3 FegmEn mdft TR & 9 e sfteemred amiye wwaE o

it 39 :
(1) % (a) (2) %= (bh)
(3) W (¢) (4) G 9

Consider the following statements and select the incorrect statement :

(a) Sarva Shiksha Abhiyan has been launched in 2001 — 2002 in partnership with
the State Governments and Local Self-Governments.

(b) Sarva Shiksha Abhiyan does not cover the Lok Jumbish and Operation
Blackboard Programme.

{(¢) Sarva Shiksha Abhiyan covers NPEGEL and Kasturba Gandhi Programme.
Answer Options :

(1) Only (a) (2) Only (b)

{(3) Only(c) (4) None of the above

30. SHEE HU ASGI.
(1) 1951 Ue SIYFTa AEE AFaiean i dagRaars TR deT 72 g,
(2) 2004 W& I FAETST SFENTAT TR FagREETE THUl TEAT 84 B,
(3) 1951 Wed Jiggfea STAATS! AFHI= AT FAAGREHT= TEYl HAT 26 B,
(4) 2014 ued S A Sehatom i TaeREaT TR WEd 47 2.

Select the incorrect statement.

(1) Total number of Reserved Constituencies of Lok Sabha for Scheduled Castes
was 72 in the year 1951.

- (2) Total number of Reserved Constituencies of Lok Sabha for Scheduled Castes
was 84 in the year 2004.

{3) Total number of Reserved Constituencies of Lok Sabha for Scheduled Tribes
was 26 in the year 1951,

(4) Total number of Reserved Constltuencles of Lok Sabha for Scheduled Tribes
was 47 in the year 2014.

T FTHIHTS! ST / SPACE FOR ROUGH WORK
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31. welid fun foeme o
(a) wifdd 9 TEER TwEER el ofm e (NMEICT) @ aiwfem onft e
BIIEC IR I 1
(b) wifedt 3 gEAR dagEgR s wfim fism (NMEICT) & Ao wafiss, areafiss
anfor 3= o derardl BrRRRR . :
Tt S
(1) Fa fqum (a) T (2) ad UM (b) S
(3) A faym s= ' (4) A Rum ghEh
Consider the following statements :
(a) The National Mission an Education through Information and Communication
Technology (NMEICT) has been envisaged as a Centrally Sponsored Scheme,
(b) The NMEICT has benefited in primary, secondary and higher education
institutions.
Answer Options :
(1) Only statement (a) is correct (2) Only statement (b) is correct
(3) Both statements are correct (4) Both statements are false
32. OECT GEEY TN e 19 IR/STRT ?
(a) e Foqet

(b) Tormei=n U rorEm wiF g geaET
(c) Taeneatnsd Afas 7 smenfchs W fo=fan

qarft 3= ;
(1) % (a) (2) (a) AT (b) T
(3) (b afer (c) et (4) T wd

What is/are the objectives of Continuous Comprehensive Evaluation ?

(a) Behavioural outcomes

(b} Continuity in Evaluation and Assessment of Broad Based Learning of students
(¢ Inculcate the moral and spiritual values in students

Answer Options :

(1) Only(a) (2) Both (a) and (b)

(3) Both (b) and (c) (4) All of the above

FeedT HTHATS! SR / SPACE FOR ROUGH WORK P.T.O.



E15

22 : A

83. 3N A i@l —

(a)

wreafys fgor=h UETT guURD g Y& defEet a1 EE 2009 W Ui Aeafie e
Al gF oI .

(b) Wit fad — wh aS N e suEs! anfer =R I 9de 2015 = go

(c)

SO 3.

AL, 2016 T 1099§aﬁaﬁmﬁméaéwm‘sma&m’mgsm
HTAT.

gatHt I

1)
(2)
(3)
(4

e (a)
% (b)
B (c)
AT AT

Select the incorrect statement —

(a)
(b)

(c)

Rashtriva Madhyamik Shiksha Abhiyan was launched in 2009 with the
objective to enhance access to secondary education and improve its quality.

Shala Siddhi — School standards and evaluation framework and its web portal
was launched in 2015. :

‘Shala Darpan’ project to cover all the 1099 Kendriya Vidyalayas was launched
in August, 2016,

Answer Options :

(1)
(2)
(3)

(4)

Only (a)
Only (b)
Only (c)

None of the above
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34, aﬁa#@*:&q.ﬁ.qa., mﬁqﬁae—vﬁwﬁ, TRaaed YT E AT g
‘Tafdre forere gftraer aigym fosfm FoamEt Fae .
(a) =t 1<t 9 ot 2 & = Remeata sreamea S0 e
(b) &t 38 9ot 4 oft = fEneaian srege = awEd).
(¢) i 5 g ot 6 i =1 famneatn srsaTe o= fersEd.

Tl I
(1) % (a) (2) wH (b)
(3) (a)d(b) T (4) =hadFr ad

Under ABL in Tamil Nadu, Nali Kali in Karnataka, Pragya in Gujarat, steps have
been taken to develop ‘specific teacher training’ modules for teachers

(a) teaching students in classes 1 and 2.

(b) teaching students in classes 3 and 4.

(¢) teaching students in classes 5 and 6.

Answer Options :

(1) Only(a) (2) Only M)

(3) Both (a) and (b) : (4)  All of the above

85. A ®EA/A eEl —
(a) TEW B 9YOR W@a:a MOOC wighiH 1, Gﬁﬂéﬁwaﬂwéqa:{wm
FH, 0T =T IR 9 S, 2017 TS s

(b) wmaDTHaﬁwaaﬁ%ﬁﬁﬁm%mmw%wmm%mmﬁ
YRY 9 5, 2017ﬁsﬁ3ﬂﬂ1

aaif 39y :
(1) %44 (a) (2) W% (b)
(3) (a) 9 (b) o (4) =i TR

Select the correct statement/s —

(a) SWAYAM is India’s own MOOC platform offering online courses on all
disciplines, and was launched on oth July, 2017.

(b) SWAYAM PRABHA is an initiative to provide 32 high quality educational
channels through DTH, and was launched on 9th June, 2017.

Answer Options : 7
(1) Only (a) ' (2) Only(b)
(3) Both (a) and (b) (4) None of the above

FHET HHTATS! ST / SPACE FOR ROUGH WORK . P.T.O.
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36. ~ Fifeccur §d amre, =l Infor fawmn wq@ A dret gofra fermfsa 4.
W W @ =@ 3 s @ wwu
Kautilya categorises all the Amatyas, Mantrins and Department Heads into
Tirthas.
(1) Nine (2) Twelve (3) Fifteen (4) Eighteen

37. Tdecha WS swESE gROShE w8 WA Ruee eoEE e B, @ e
3 HNYA I Bl
(1) w9 9g (2 =%
(3) d9r (4) goTEat

During the Mauryan Period, the empire was divided into six provinces for
administrative purposes. The provinces were called

(1) Janpad ' (2) Chakra

(3} Pour (4) Samaharta

38. 'de =i Bfw A wedd s WReREm seanfa w1 fSeafiesrh
oo daomren HrEt SeaE e MR, ATETEd A Ay T
(a) TiTeAT ATt TOAH, AR, R T Tad <A gl HE G g helt did.
(b) = W coEE, T g8 A aremdie i Sh s s seete

it I ;
(1) % (a) (2) %= (b)
(3) (a) 30T (b) (4) IR T

O’Malley referred to the acts of heroism displayed by some Collectors in the Bombay
Presidency during British Administration. In this regard correct statement/s is/are :

(a) During a plague epidemic, R.B. Stewart burried corpses with his own hand.

(b) During a cholera epidemic, Martin Wood ate his meals with the sick to reduce

the panic of the people.
Answer Options :
(1) Only(a) (2) Only (b}
(3) (a)and (b (4) None of the above

el SIETEIS! SR / SPACE FOR ROUGH WORK
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39.
(a) Tieamg FRe 9 gHT=R T9ET 00,
by Foremma TRgaT™ TR w0
(¢) Tocgma famm o= =,
(d) Toeama e JwET S0
ey I :
(1) & (a) FM0 (b) (2) wFa (b) A (c)
(3) (a), (b), (c) 3MfoT (d) 4) w%E (d)
In the words of S.5. Khera ‘District Administration’ stands for :
(a) Law and order administration within a district.
(b) Revenue administration within a district.
(¢) Development administration within a district.
(d) Public administration within a district.
Answer Options :
(1) Only (a) and (b) (2) Only (b) and (c)
(3) (a),(b), (c)and (d) ' (4) Only ()
40. weha faue faemE = .

(a)rw@ﬁw&mammammmmmm

(b) ﬁﬁﬂmﬁwwmmmﬁwﬁwsﬁwm
ST el T8,

(0) el Tond it gudh daar anfh s aAreft anfor Awsf T e
gifraa +=al.

(@) wengE, feaiftesrd &1 fieer Freem afirden wgfig sty e e sel ol

Fheh S faum/A st sm/a ?

(1) %% (a) (2) (b), (c) T (d)

(3) (a) 3 (o) (@) (a), (b) 3for (d)

Consider the following statements :

(a) Before Independence, the District Collector acted as both, the Executive
Magistrate and the Judicial Magistrate.

(b) Panchayat Raj Acts of various states have increased the role and responsibility
of the Collector in development administration.

(¢) The Collector maintains liasion with military authorities and looks afl:er the
welfare of both serving and retired members of Armed Forces.

(d) In Maharashtra, the Collector also acts as the Ex-officio Chairman of District
Planning Committee.

Which of the statements given above is/are correct ?

(1) Only (a) (2) (b), (c) and (d)

(3) (a)and (c) _ (4) (a),(b)and (d)

Foea] HTHETE! S / SPACE FOR ROUGH WORK PTO.



E15

26 A

41, ‘AT INE@REEE §F 39 HAEd. W @ SR &9 QU wWEed SE. SiE
TETE TRV WU T T s Ftdl qut et S saet afes.”

% forum womelt deedia o 2
(1) F 91 Ffirt

(2) ST AT

(3 mnwﬁag%mvnam’m
(4) TS SRR RETS

“The doctrine of ministerial responsibility has two facets. The minister has complete
autonomy within his sphere of authority. As a necessary corollary, he must take full
responsibility for the action of his servants.”

This statement is associated with :

(1)
(2)
(6]
4

Krishna Menon Committee
Chagla Commission
Administrative Reforms Commission

Gopalswamy Ayangar Report

42. Wei@dh HoEn TEaEed gl 0 ® et Ofae Fofan S suaens

I 7l T heaw e awg T ?

(1) =t waafaeg smuy

(2) <ufeeg 9y

(3) =19 9 iy yudnft Frdia sty
Fleraht ATE

4)

For which of the following offences is it binding on citizens to report to the police if
they have any information about the case but omission to give such information is
not punishable ?

(1)
(2)
(3)
@b

Offences against public tranquility
Offences against the state
Offences related to adulteration of food and drugs

None of the above

. &EEg] BT ST / SPACE FOR ROUGH WORK
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43, AR Aga M1 28 Tect TISAT BV TAHE T Ak SFGTAYT Bl TRl WIS
Fredt 7

D
(2)
(3)
4)

Towards New Public Administration
Reinventing Government
The New State

Dynamic Administration

In which of these books did David Osborne and Ted Gaebler introduce the concept of
‘New Public Management’ ?

D
(2)
(3
(4)

Towards New Public Administration

Reinventing Government

The New State

Dynamic Administration

44, AHENEHR Tgadan dgifoe arevft waem wivft Heft ?

(D
(2)
(3)

4)

S GrEaHA
T8 gt B
T faemm

T 9

Who had systematically theorized bureaucracy for the first time ?

n
(2)
(3
4)

Herbert Simoen
Mary Parker Follett
Woodrow Wilson

Max Weber

ZFFEET BIATATS! AR / SPACE FOR ROUGH WORK - P.TO.
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45. Tycgfierl g sfer @ w1 JEmeda g e S ?

Y
(2}
(3)
(4)

@ forerr ST 2t st

A HE AT HagREHEE Fasvm sttt st
iuﬁmm?ﬁawmﬁawﬁmmm?ﬁwmm.
CER R maﬁwmﬁmﬁw@m _

‘State the wrong statement with regard to the powers and functions of the District

Collector.

(1) He acts as the district census officer.

(2) He acts as the returning officer for the election to Parhamentary Constituency
only. |

(3) He acts as the crisis administrator-in-chief during natural calamities and other
emergencies.

(4)

He is responsible for the civil supplies, food and other essential commodities.

46.  «wor Fafid vhssmn sifam zom

(1)
(2)
(3)
(4)

dieor ffieh

e e
HREl SHAEE
€T HeamTI=

The final stage of the policy process is

(1)
(2)
(3)
(4)

Formulation of policy
Data collection
Implementation of policy

Evaluation of policy

Foed] PHTHIST SN / SPACE FOR ROUGH WORK
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47, Eetetd s s fAaen.

T TTYAT Y
(1) i aufin faeem @een (NIRD) — 1958
(2) wRdE o S gedr (IPA) - 1954
(3) sfeu e whia o= sl — 1987
(4) fogw Qe ge — 1968
Choose the incorrect pair.
Institution Year of establishment
(1) National Institute of Rural Development (NIRD) - 1958
(2) Indian Institute of Public Administration (ITPA) — 1954
(3) Indira Gandhi National Forest Academy — 1987
(4) Foreign Service Institute ~ 1968
48, I GRE HIdH T VA SOl SeEs T ?
@) R e (2) FwfE T g
(3) TH.UY, WHHEA (4) vufE ars
Who is known as the ‘Father of Green Revolution’ in the World ?
(1) Norman Borlaug (2) Benjamin Peary Pal
{3) M.S. Swaminathan (4) Erich Tschermak

49. WicEH R fum HE o ?
(1) ol dan WEardt S afidi a@wata 21 - 26 98 onft gafaded ad.

(2) T a1 GhEEn FEETERY IACER A STHERIa ST/AMId SUGAR 91 gatn wad gF
J51 99 g™ A Frerd Frer aftd Fefl wrt.

(3) vRdt wEhE Fa1, WRAR dicfd dar oft Wl @ dadia wewgdE g (Sen)

(4) Shadeht Tl At

Which one of the following statements is incorrect ?

(1) The age-limit for the civil service examination recommended by the Kothari
Committee was 21 — 26 years.

(2) The Kothari Commlttee had recommended only two attempts for the civil

_ service examination for both the general and the SC/ST candidates.

(3) The Kothari Committee had recommended one-third posts in the IAS, IPS and

Indian Forest Service (IFS) to be filled in by promotion of officers employed in
the state services.

_ (4} None of the above |
FHEET HETHIS! SN / SPACE FOR ROUGH WORK P.T.O.
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50. SIS = e deta FTduHdt TEI
(1) w95 (2) U MY IH
(3) AR AETw (4) e 9%
In the context of judicial control over administration, malfeasance stands for :
(1) Error of Law (2) Error of fact-finding
(8) Abuse of authority (4) Error of procedure
51. Wil SV gen AR fagw Qa=ar gidemomsn wi amd ?

(a) TP WeTE TSI A9 TRmE snarEsEe
(b) s wfgor

(c) WIS R gaIaraTa wisi= afeor
(d) wra b

(e) I ymEa gera wiem

qard I ;

(1) (a), (b) 30T (c)

(2) (), (c) M (@)

(3) (a), (c), (d) 271 (e)

(4) =@ @d

Which of the following are the components of training for Indian Foreign Service ?
(a) Foundational course at the National Academy of Administration

(b) District training

(¢) Language training at an Indian mission abroad

(d) Bharat Darshan tour

(e) Attachment to a military unit

Answer Options :

(1) (a), (b)and (¢}

(2) (b), (c)and (d)

(3) (a), (o), (d) and (e)
(4) All of the above

Foed] STHTS! ST / SPACE FOR ROUGH WORK
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52, ‘Frem il wge arm T A

(1) & U A danerman P afem wir s ame.

@ a1 gR P smurte SR i ST ST e a5 T .

(3) ‘o mie fivm SRl @1 e SAadiSTER €1 wRiHA IueTed Ht G JTa.

(4) wumE T STEMAETe AEsAe AsEes uitegR A aqul e e SR,

Identify the incorrect statement about ‘Mission Karmayogi’ :

(1) The new national architecture for civil services capacity building.

(2) To shift focus from rule based training to role based training.

(8) The programme will be delivered by setting up training platform named -
‘T Got Mission Karmayogt'.

(4) A Public Human Resource Council under the Prime Minister would oversee the
entire capacity building exercise.

53. faiw g8 il TR Foem s NfaumE T 9ige g seEsaviiEe s 3t
fuifia e aga. JEEda o= faam = ?

(1) Toreruish simcreerash ot S anfir sy Rk sia.

(2) J<f ARG FH.

(3) e T ¥ e WA S s Rrawe s 3 .
@) vede gfiew g et Zfew st o darg Saen ST

Christhopher Hood developed a “Top-Down’ model, in which he set out some
conditions for perfect implementation of policy. Which of the following statements is
wrong ?

(1) Norm would be enforced and objectives would be given.
(2) There would be limitation of time.
(83) People would do what they are told and what they are asked.

(4) There should be perfect communication in the unit and between the units of
organisation.

FoehT SIS AR / SPACE FOR ROUGH WORK P.T.O.
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54. Gl o fowm 1985 wed Fwiv wwaE s s, wEde @il st
Fraciaa wererErsn wr T ?
(1) w7 Frfsd= Faiem
(2) It T wfgror fovm
(@) fageiaes 9 Fasfioaaures s faswm
(4) TREHE GURUN § HrEST-e awrt favm

Which of the following is not a department under the Ministry of Personnel, Public
Grievances and Pensions created in 1985 ?

(1) Department of Personnel and Career Planning

(2) Department of Personnel and Training

(8) Department of Pensions and Pensioner’s Welfare

(4)  Department of Administrative Reforms and Public Grievances

55. Grete faum fe=mmma =

() UPH vmmEe et (LBSNAA) g s Fden armyg Yiigw Hid &1 v sifad
R i T geenardl (ST St rgee wia) T,

(b) v weTEh dadia wfngoneffardt 1969 wrem Hefew’ wid oWy A o,
(c) it afirfien Rrersfigar 1978 arm Wil Tl #adia sy Tde Hefae’

FIY AN HUIE AT
(d) wem, UEiE TAEA FHEH! 8 T8 Al fUsnaEE o,
Tlterl=h) Fiord faur/A Itet oTmra ?
(1) (a), (b) 371 (c) (2 (a),(c) 3T (d)
(3) w4 (b) (4) w& (a) 3T (c)

Consider the following statements :

(a) The Foundational training course organised by National Academy of
Administration (LBSNAA) is for the new entrants (called probationers) of All
India Services only. :

(b) ‘Sandwich’ course introduced for the IAS probationers since 1969.

(¢) ‘Sandwich’ course introduced also for the IPS probationers since 1978 on the
recommendation of the Kothari Committee.

(d) Presently, the National Academy of Administration is under the Ministry of

Home.
Which of the statements given above is/are correct ?
(1) (a), (b)and (c) (2) (a), (c) and (d)
(3) Only(b) (4) Only (a)and (¢

greedT SIS ST / SPACE FOR ROUGH WORK

[P IS L T TR SR MR FEE RO LR



A 33 ' : E15

56,  ArREEit Hei el v foum stst smg/emed ?
(a) IHETE W Weg WoW Ui NG SUshies awmmm;ﬁisaﬁmwﬁm

TN Hey Ut JTae.
(b) I VE AN AT, mwmuﬁﬁﬁmaﬁﬂ
wath I ;
(1) %% (a) ' (2) wFd (b)
(3) areE (4) wHd TE

Which of the following statements is/are correct regarding bureaucracy ?

(a) The term ‘bureaucracy’ was first used in the Greek form ‘bureaucratic’ by
Greek minister of commerce in the eighteenth century to refer to the
government in operation.

(b) The major contributions have come from Marx, Max Weber and Robert Michels.

Answer Options : .
(1) Only(a) (2) Only (b)
(3) Both (4) Neither

57. mmmmmﬁmm?
(a) oY IaH fam AfFTT (SFDA) <t T 1969 et FTAl.

(b) MWWWWW(MFALDA)%W 196911%'&37@

it I ;
(1) % (a) (2) w= (b)
(3) (a) 7M1 (b) (4) IR T

Which of the following statements is/are correct about rural development
administration ?

{a} Small Farmers Development Agency (SFDA) was established in 1969,

(b) Marginal Farmers and Agricultural Labourers Development Agency
(MFALDA) was established in 1969.

Answer Options :
(1) Only(a) (2) Only(b)

(3) (a)and (b) (4) None of the above
T HETAIE! AR / SPACE FOR ROUGH WORK ) P.T.O.
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34
(1) Figeoma, sEag, gt oEs i FEeE
(2) Frvera, swigwan, o enfin e
(3) FEE, SriEwaT, seawar M wEAS TS
(4) Trveom, sizma, aEwtE amEe enfor faa

Frohock has suggested concepts as helpful in evaluating policy.
(1) Equity, Efficiency, Public interest and Planning

(2) Equity, Efficiency, Finance and Personnel

(3) Equity, Efficiency, Pareto optimality and Public interest

(4) Equity, Efficiency, Public interest and Finance

531 R

g Gh'é:f w3497 :

(&ror) (a¥)
(a) TR GeelFOTHER T g (i) 2013
(b) VETHEREN THT G (i) 2006
(¢c) fesam s=biad= ugig aow (i) 2001
warEt 3w H

(a) .(b) (e)
(1 @ (ii) (iii)
@ i) Gi) (i)
(3) (i) 6); (i)
@ (iii) (ii)
Match the following pairs :

(Policy) "~ (Year)
(a) National Policy for Empowerment of Women (i) 2013
(b) National Policy for Children (1) 2006
{(¢) National Policy for Persons with Disability (ili) 2001
Answer Options :

(a) (b) (e)

(1 @ (ii) (iii)

(2) (D) (i1) 1)
(3) (iii) (1) (i)

(4) Q) (111} (ii)

oedT HHTG! 9T / SPACE FOR ROUGH WORK
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(b)

{c)

(d)

A 35
Jre=T EET
T
(a) WIS goaTEld TUR GO
(b) YT § (HEE AE0E TP 9
(c) e AT TP 4T
(d) fe=am safrad= i g
it Iay:
@ ® @ @
1) @ (i1) (iii) (iv)
(2) (v (iii) (1) (1)
(3) (iii) @iv) @) (ii)
4) (i) (iv) (iii) {)
Match the pairs :
Name of Policy
(a) National Policy on Narcotic Drugs

National Policy on Resettlement

- and Rehabilitation

National Policy on Disaster
Management

National Policy for Persons with
Disabilities

Answer Options :

(1)
(2)
(3)
(4)

@  (b) © (@
® G Gi)  Gv)
v G @ G
Gi)  Gv @ (i)
Gi)y  Gv G @)

(1

- (id)

(iii)

(iv)

(i)
(i)

(iii)

iv)

E15

T8 TA
ARSI § FFA 0 HAe
319 vaETe (wegw favm)

nrfior faepre TaTer (spEEvE )

Related Ministry/Department
Home Affairs

Social Justice and
Empowerment

Finance (Department
of Revenue)

Rural Development (Department
of Land Resources)
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61. el Fvd fTaFE/A FHEm 371 JOR, I HERT 9 IO UsAEEId a9y g g 91,
T AT,

(a) w%mﬁﬁﬁwnmﬁm@m

(b) el o caaEiie e GRS Ty et awiE T wws
CIu

(c) Wwwdmwn?ﬂawwﬁa@mwﬁwﬂ
gt IW

(1) %d (a)

(2) () 2f (¢) B

(3) (a) anfi1 (b) S

@ (), e

Which of the following statement/s is/are true with respect to Article 371, providing
special provision for the States of Maharashtra and Gujarat ?

(a) Provision of establishment of Separate Statutory Development Board.

(b) Provision of reservation of seats in -educational and vocational training
institutes for the students belong to the backward region.

(c) Provision of reservation in State Goverment posts for persons who belong to the
backward region.

Answer Options :
(1) Only(a)

(2) (a) and (c) both
(3} (a) and (b) both

(4) (&), (b) and (c)

FEGT HHTATSE SIF { SPACE FOR ROUGH WORK
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37 E15

wrefte Taem faemoa =i . _

(a) Y TR E LS 1953 el qren AN T Wiy oAl Nanie e wenry
=g FAfdden = e,

(b) IR R Tl Y@ FATIER Ageg Tod e gadt amqe a9 sfedem a0

(c) g@ﬁﬂm.&ﬁ.wmﬁmﬁumjﬁuwﬁwqmlﬂ, 1956

Ut e, .

(@) TH S g seandEre weien fafdu v dehia 0 A9 6 by, 1956
Tsft Ty AgrrSy |firt= T A=l

i Frh faemy f A 2

(1) %= (a) 3T (b) (2) (a), (b) M (¢)

(3)  (b), (c) ¥ (d) (4) wfaEd

Consider the following statements :

(a) The Nagpur Pact was concluded in September 1953. It led to the creation of the

~ State of Maharashtra from contiguous Marathi speaking areas.

(b) The most prominent clause of the Nagpur Pact required one session of the
Maharashtra State Assembly in Nagpur every year.

(¢) Bilingual Mumbai State was established on 1°* May, 1956 under the Chief
Ministership of Y.B. Chavan.

{(d) The meeting of various opposition parties presided over by S.M. Joshi formed
Samyukta Maharashtra Samiti in Pune on gth February, 1956.

Which of the statements given above are correct ?

(1) Only(a) and (b) (2) (a), (b) and (¢)

3) (b),(c)and (d) (4) All of the above

63.

GrefTteht Fvr fagm T e 2

(1) TRUd FET AT A e 3718, mwawmmm
T8

(2) T=AW B Fegreie Ugadl o ATl wgErt sfiwdt o,

(3) vIRGT=AT UKWl T TeauTenrs fadenf 1R 85 orsean wisgifehd oEe ST
<13 '

4) it wwd A

Which one of the following statements is incorrect ?

(1) The Governor is the constitutional head of his state just as the President is of
the Union.

(2) The Governor is the model of a nominal head like the President at the Centre.

(3) The Governor has clearly spelt out specific areas of discretionary powers just as
the President of India.

(4) None of the above

TET D! AR / SPACE FOR ROUGH WORK P.T.O.
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64. TFN faum i

(1)
(2)
(3)
(4)

‘SureAT } vg AT AT,

JSHY AfeRbd SYEIEE e TSTqis IuTey I T SR IR,
TETE TS UshTug i SUgeerEl 315 vhdrd; 90T 9 Y& e ATa.
Ei |

Which of the following statements is incorrect ?

(1

(2)

(3)

(4)

The post of ‘Deputy Chief Minister’ is not a constitutional one.

In order of precédence Deputy Chief Minister stands at a 4simi1ar positon as
Deputy-Chairman of Rajya Sabha. '

There can be more than one Deputy Chief Minister but not more than five in
any one state.

All of the above

65. SRl T SAfth TR i TSI TSI FEUE FR F gl i A :

(1)
(2)
(3)
(4)

F EARERE fiet S

Tyt Wit e UsAg fee s

When a person acts as Governor of more than one state his salary is

(1)
(2)
(3)
(4)

Paid by the Union Government
Shared by the concerned states as determined by the President
Charged to the Consolidated Fund of India

Paid by the state named by the President

FFoegT HITATS! ST / SPACE FOR ROUGH WORK
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e giarasa @eta faum faamma o -

(a) W&T Oy Ug § 1799 A @i Joreh 7 Fmior 3.

(b) 3t WiyaETea geidd 4 Ug UAEIAS fgenn I WS e,

(¢©) 2004 7ed fi. 8. g1 winfier Fremefigar 1o e ¢ 8 yanfila FoamE o o
AT & WA FEHRAT |Gl U a1,

qatd IW

(1) e (a) 3T (b) =, faum (o) TH=

(2) faum (a) O, fqum (b) a0l () TR

(3) TaEm (b) 3l (o) TR, Faum (a) TH=

(4) w4 faum =

Consider the following statements about Chief Secretary :

(a) The office of a Chief Secretary was created in 1799 by Lord Wellesley.

(b) His position vis-a-vis other Secretaries is more than primus inter pares.

(c) The office of a Chief Secretary was standardised in 2004 on the
recommendation of P.C. Hota Committee and was equated with that of the
Secretary to the Government of India.

Answer Options :

(1) Statements (a) and (b) are correct, statement {(c) is false.

(2) Statement (a) is correct, statements (b) and (c) are false.

(3) Statements (b) and (c) are correct, statement (a) is false.

(4) All statements are correct.

67. @i faue foame =

(a) uwazﬁwaﬁa—ngwmzﬁmmaﬁamﬁwﬁ?ﬁﬁm
(by Ifell-3feam TmTdiETE! TRHHT 0T U= fAUawTed STacret SIREUT 103 =41 HeTgeet

FrfrfrmgR aiefavam ot oTR.

(c) . ST M 3. IATETS SRS AR ARGV § ARG — 334 e Ieorg e
Yl T AledTaR Aiafavard I,

(d) wfRFAEE e @A FEAS AP AREY ¥ e — 334 78 Ieo@ helell
BT THT HeATE ASSUETE A5,

et woR faumA o sRa ?

(1) (@), )1 () - (2) (b) 3for (4)

3) (o) 3nfor () - (4) e ()

Consider the following statements :
(a) Article — 342 of the Constitution defines who is an Anglo-Indian.

(b) The 103™ Constitutional Amendment Act ceased the reservation of seats for
- Anglo-Indians in the Lok Sabha and State Legislative Assemblies.

(¢) 'The reservation of seats for SCs and STs shall cease to have effect on the -
expiration of the period specified in Article - 334.

(d) The reservation of seats for women in local self-governement shall cease to
have effect on the expiration of the period specified in Article — 334.

Which of the statements given above is/are correct ?

(1) (a), (b)and {(c} (2) (b)and (d)

(3) (c)and{(d) (4) Only(c)
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forest giwe=f 9o sgasye 9 Weear aftd g Efietd v fTuR so= eneg ?

(@) T weam & 3 v wefig e smar.

() 9= vd fovg wfvrc= avd @ 71 e 9efag o= swam.

(¢) = gfrdfla f.. mmmwﬁé&ammwﬁeﬁ%ﬂmﬁuﬁw
HedHT AT

(d) I9 gEF HEBH aﬁmﬂmmﬂﬁ?ﬁm wgfag afvm s,

(e) HEHH sfiEar (wrfivr afigeEar) fr.g., sEel AfEa (98m wedur) fru. g @
Tfifi= vgfig d9ew o/gm @ wiidi=n dohia 9<9d AagHTSAT BIHIEE HIT B WA,

Tt I

(1) (a), (b), (d) 3V (e) (2) (a), (0), (d) =M (e)

(3)  (a) 3 (b) (4) =fiq &4

Which of the following statements about Water Management and Sanitation

Committee of Zilla Parishad (Z.P.) are correct ?

(a) The President of Z.P. is the ex-officio chairman of this committee.

(b) The chairmen of all subject committees are the ex-officio members of this
committee,

(¢) Five councillors, out of which not less than three shall be women, to be
nominated by the President of Z.P.

(d) The Deputy Chief Executive Officer is the ex-officio secretary of this committee.

(e) The Executive Engineer (Rural Water Supply) Z.P. and the Executive Engineer
{Minor Irrigation) Z.P. are the ex-officio members. They may take part in the
deliberations with a right to vote in such meetings.

Answer Options :

(1) (a), (b), (d) and (e) . (2) (a), (0), (d) and (e)

(3) (a)and(b) ' (4) All of the above

69.

Jurga Gt @t enfor 39 wwiadt wie feevpiem dudersa faar faiv seam
Frareuhiem feaiwmmgg fdt fiaamn ama snftr Fiwmewe Frweeh gg 7 @ ?

(1) 30 Raw; Feafasd a=amwe

(2) 380 feaw; fawfia g+

(3) 30 fegw; Ty FasTF RIS

(4) 30 fEaw; T e

Within how many days and to whom can appeal be filed regarding legality of election
of Sabhapati and Up-Sabhapati of Panchayat Samiti, if controversy arises ?

(1) 30 days; to District Collector

(2) 30 days; to Divisional Commissioner

(8) 30 days; to State Election Commission

(4) 30 days; to State Governement

oA HHITSE SR / SPACE FOR ROUGH WORK
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70. 7459 FEAIGE 3 THAE &, Bie fRar 918 Al &% e, wiefla wew a UeA

T AT g qiE Hoe 8 ;

(a) <ArHEEA

(b) ErFEERRL T

() o =fafea s I s

(d) ot we

i I

(1) (a), (b) AV (c) (2)  (b)(c) 3 (d)

(8) (a), (c) 3T (d) 4) <(a), (b) (c) 37T ()

As per the 74" Constitutional Amendment Act, Governor may specify by public

notification, the transition area, a smaller or larger urban area. For this purpose
he/she may consider the following things :

(a) Population of the area

(b) Density of population

(¢) Percentage of employment in non-agricultural activity
(d) Economic importance

Answer Options : ‘
(1) (a), (b) and (c) ' (2) (b), (¢) and (d)
(3) (a),{c)and (d) (4) (a), (b), (¢) and (d)

71, 7439 USAIGEK! HEE=Al GeHid JEIAeh! I faue S0 JR/A-?
(a) o FHETH ARG GlauHE W XI-A Tgen 9.
(b) o FHEH WRATSH WgET AwE i died .

it I ;

(1) = (a) (2) wEd (b) (3 & (4) THD @
Which of the following statements is/are correct in the context of 74th Constitutional
Amendment Act ?

(a) The Act has added Part XI-A to the Constitution of India.

(b) The Act has added Twelfth Schedule to the Constitution.

Answer Options_: |

(1) Only(a) (2) Only (b) (8} Both (4) Neither

Fo1 HHR! ST / SPACE FOR ROUGH WORK P.T.O.
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72. YAA SEvi 8% ferkassh @refie v g
' (a) BEU &F s IR animed e nda.
(b) -TV sravft & kel T WR W fagy 3w
() =TIV STavlt & wiiAdAed Tl Shee € 3N TR TSN S Jr .
(d) wravlt & witerea T srwd st InvE GeEw g=gR Fell I,

Fiateh! vl f3am™ T FJRg 2 .
(1) (b) =fi (¢) (2) (a), (b) 3l (d)
(3) (a)anfir (c) 4) ol &

Consider the following statements about Cantonment Boards in India : -
(a) Cantonment Boards are divided into four categories. '
{b) In category-IV cantonments, there are only four members who are elected.

(¢) In category-IV cantonments, the civil population does not exceed two thousand
five hundred.

(d) The Chief Executive Officer of the Cantonment Board is appointed by the
Defence Minister.

Which of the statements given above are correct ?
(1) (b)and {c) ) (2) (a), (b) and (d)
(3) (a)and (c) (4) All of the above

78, THININTEIA HeFTdlierent aatt @refier faam faemoa e
(a) mmmmﬁﬁaﬁ%mﬁmwmm

(b) TEFTRAIcT Haere Hivargl fFof Tsames feg wisvd T8,

qatt I ‘ ,
(1) wad faum (a) T (2) % faum (b) TR
(3) < faam st 4) - fam e

Consider the following statements about Municipal Corporations in Maharashtra :
'{(a) It is responsible for setting up and enforcing building norms.
(b) The State Government cannot overrule any decision taken by the Corporation.

Answer Options :
(1) Only statement (a) is correct (2) Only statement (b) is correct

(3) Both the statements are correct {(4) DBoth the statements are false

el HETAIS! S / SPACE FOR ROUGH WORK
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et faum wRewr we A gata faen. oo fass s, T R

74,
(a) TuifIs ey T fAaevEhiadt o HagR IR a9 Hid 3.
(b) W Fraguphrea ariigt e fefiv Far samer 3Eie STEmeR TR,
(c) U~ardlie Usehie v il sua= snfor Hierlt ' Foae siftsR JEa AEmee
. |
g I ; , )
(1 a9k : (2) (b)IH 3) ©I* 4) W& IF
Examine the following statements about the State Election Commission,
Maharashtra and select the proper option :
(a) It prepares a separate voter’s list for the local body election.
(b) It is also fesponsible for doing delimitation of all the constituencies before
every election. , '
{c} Itis also empowered to register and dé—register political pé.rties in the States.
Answer Options : )
(1) <{(a)is false (2) (b)is false (3) (c)is false (4) All are false
75. WAt HivR faum HR TR 7

(1) ngmmun%mﬁzmw:anEM%ﬁﬁtrﬂrmananuraﬁﬁammgianmm%'%ﬁm@;aﬁwwmm
TRUA T HE Ihd.

(2) dTEGH TIEATH ¥ HEWRUIGh JBlasl SEA memﬁ e I § W T
SITEAT=AT AT B YeRdT.

(3) aﬁﬁgiggﬁﬂxmm$ﬁan a9 T W AT SR HETTTR] HEW 9T
Eda .

@) 8h o T

Which one of the following statements is false ?

(D T'he, Municipal Corporation shall appoint a fit person to be the ‘Transport
Manager’ of the Transport Undertaking with the approval of the State
Government.

(2) The Transport Manager shall receive such monthly salary and allowances as
the Corporation shall decide from time to time, with the approval of the State
Government.

(3) Salary and allowances of the Transport Manager can be reduced by the
General Body [Aam Sabhal of the Corporation during his period of office.

{4 None of the above

FoeAT HRHIE! SR / SPACE FOR ROUGH WORK o P.T.O.
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76. Gicfierdht Hivig faum/A sRier ong/a ?
(a) 1880 =1 @ie fu=am U™ wfis e GE (M1 *Hel) THe wid.
(b) weIE T HaaT Al AT AHENET ARFANT IeciE@ FHATT AT,
(¢c) woaa vg Ugar afirdt=an Prerefiqar Regfast @ Seamfwea g 33,

gt Tﬁﬁ :
(1) %= (a) (2) % (b)
(3) (b) 3fvr (¢) (4) T Thd A8

Which of the following statements is/are correct ? ‘
(a) Lord Ripon’s Resolution of 1880 was hailed as the ‘Magna Carta’ of local

government. ' . .
(b) The Balwant Rai Mehta Committee report made a formal mention of the Gram

Sabha.
(c) According to the Balwant Rai Mehta Committee, the District Collector should

be kept out of the Zilla Parishad.
Answer Options:

(1) Only(a) (2) Only (b)
(3) (b)and (c) (4} None of the above
77, “Qrepetan afifdfl srem Eielieieh! v faur 9 smda ?
(a) 1954 T&t 1 wftdia B wiehoi Rasad 22 g2&7 8.
(b) wiEES wieaE aidR T e afdih Tt w9’ @ F 14, RO A SREE
Titcar ™ THNEE i 3™ 3R,

() ud affrfl weemn o=l o R, W drhoEl aitde g9fia sEaEa afdmdia
THTH] Yoo Toaqdl ALAETT o T8a ot |ehayr audia 3T4d.

b |

it 3?& : ,
(1) =09 =6 : (2) e (a) 3T (b)
(3) = (b) 3T (¢) (4) = (a)

Which of the following statements about ‘Public Accounts Committee’ are correct ?

(a) Prior to 1954, the Committee consisted of 22 members elected by Lok Sabha
only.

(b) The PAC is sometimes described as twin sister’ of Estimate Committee in the
sense that the works of these two committees are complementary. -

(c) All committee members have the same status but the members from Rajya
Sabha are under the control of the Speaker of Lok Sabha and not under the
control of the Chairmun of Rajya Sabha in so far as their functioning in the
PAC is concerned. :

Answer Options :
(1) All of the above ' (2) Only(a)and (b)
(3) Only (b)and (¢} (4) Only(a)

el SIS SR / SPACE FOR ROUGH WORK
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g faam e =

(a) HrERYR ¥ Frames dEmliaw =i TErmEnias geen it & dania
: HE IFAL.

(b) mmmmﬂwmmwmmﬁwmmaaﬂﬁaﬁé@wﬂmmﬁ
W HEE 9.

el T faym v ?
(1) % (a)

(2) % (b)

(3) (a) 3T (b)

(4) T T

Consider the following statements :

(a) In addition to legal and regulatory audit, ‘the CAG can also conduct the
propriety audit.

(b) However, the legal audit is obligatory while regulatory and propriety audit is
discretionary.

Which of the above statement/s is/are true ?
(1) Only(a)

(2) Only (b)

(3) (a)and (b) both _

(4) None

79.

‘e windar wRiEEd Eefiendt B fGum ghie R 2

(1) TEEAmEd ST ST Fewat ATomEEd! 13 gRe gafao,

(2) HHCHHR |G HUFATAT AT ATEST i,

(3) THCHAR el FUIATAT ST ARRGST Fafaw,

(4) WA T FHoier maiey i Friem It & A I waw Fo,

Which one of the following statements abbut the functions of the ‘Estimate
Committee’ is incorrect ?

(1) To suggest alternative policies in order to bring about efficiency and economy in
administration.

(2) To suggest the forms in which the Estimates shall be presented to Parliament.
(3) To suggest the forms in which the Accounts shall be presented to Parliament.

(4) To examine whether the money is well laid out within the limits of the policy
implied in the Estimates.

FEeqT HITEIES SR / SPACE FOR ROUGH WORK P.T.O.
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46 A
*Higa yoaw =X ez B o warerEmrea siviea Ry o 9e e ?
(1) oniis saagr fowm
(2) wd R
(3) wega fawm \
(4) wESIS A cqEeaT faum

The Central Board of Direct Taxes is a part of which Department in the Ministry of
Finance ?

(1) Department of Economic Affairs

(2) Department of Expenditure

(3) Department of Revenue

(4) Department of Public Assets Management

81.

‘smuniE srdgeReaTEa @relte faam fa=mm w0

(a) o ifFa 3gaM et @ fa=rfaa o,

(b) 1978 Hed oy frdt Het =i & yoneht swafehwe wm FA,

(c) wrard & sumet e 1983 A=Y fagm anfor dawe fawrma g s sneh.
(d) wraTd & Womelt 1984 — 85 31 anfelw auiugs ad AuerETa g% Swad e,
Fhedht HIvrd fum e e ?

(D) (), (b) I (c)

(2) (b)), (c) 2 (d)
(3) % (a) {0 (b)
4) e gd

Consider the following statements about ‘Zero-based Budgeting’ :

(a) It origihated and was developed in the USA.

(b) It was introduced in the USA by President Jimmy Carter in 1978.

(¢) In India, it was first introduced in the Department of Science and Technology
in 1983.

(d) In India, it was introduced in all Ministries during 1984 — 85 fiscal year.

Which of the statements given above are correct ?

(1) (a), (b) and (c)

(2) (b)), {c) and (d)

(8) Only(a) and (b)

(4) All of the above
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82, ‘HUM T WG T Tefter A1 i1 Ol AT TR ¢

(a) o TH GETHNET qIifed @mET,

() T Tl srftrerws s SaftE g s R,

(c) WWWMMW%W,WWEM

AT AT,
JOeh Hivd fag™ T e ?
(1) %4 (b) (2) (b) 3 (¢) (3) = (¢) (4) Ikl AT

‘Cut motion’ in Parliament must satisfy the following conditions, to be admissible :
(a) It should be confined to one specific matter.

(b) It should not raise questions of privilege.

(c) It can suggest amendment in existing law but not repeal of existing law.
Which of the above statement is incorrect 7

(1) Only (b) (2) (b)and (c) (3) Only (¢} (4) None

83. faum(A): THUSTER CAG walq v it a2 — of. &l 3. ans.

HROT(R) :  forfig gomaameeiia uease 9 e SOe 900 ¥ SN e TR,
it I '

(1) A faum I anfen (R) ® (A) 9 D TR IR
(2) A faEm 9 Wy (R) ® (A) 2 A9 i TiE
(3) faam (A) 971 wig (R) s/

(4) aa foeam sE

Assertion (A) : Dr. B.R. Ambedkar mentioned CAG as the most important officer
under the Constitution.

Reason (R) : CAG’s duty is to uphold the Constitution and laws in the field of
financial administration.

Answer Options :

(1) Both the statements are true and (R) is a correct explanation of (A)

(2) Both the statements are true, but (R) is not a correct explanation of (A)
(3) Statement (A) is correct, but (R) is incorrect

{(4) Both the statements are incorrect

Feeq] HHMTS SR / SPACE FOR ROUGH WORK P.T.O.
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84. geRg 177 Wicil Sr=dld TSy F :

(1) = 9= qurEEET g 6

(2) WREIYSFN A TATREET 596

(3) (1) anfor (2) A=

(4) =, wEiftEeEar o1 FYNE 959 A WUTEEET §96

Article 177 of the Constitution mentions about :

(1) Rights of Ministers with respect to the Houses

(2) Rights of Advocate General with respect to the Houses

(3) Both (1) and (2)

{4) Rights of Ministers, Advocate General and members of house with respect to
the Houses

85. @rohe faum faame =
(@) Tgad T sAfiamfi Sifve Feama faum auen Friwe aefam Ig wwad.
(B)ucawamﬁawﬁwmaﬁmmﬁmaﬂmwéaﬁwmm

_ AfuRR Tegudia 2.
(¢) fTaurgian faafa (aefacen) weiwe, & sfanll secamm e wfg=ma sre
atierisht v faum/A SR sm/q ?
(1) % (a) (2) (a) 3T (b)
(8) (a)3nfir (c) 4) =f=Ewd

Consider the following statements :

{a) The term of Legislative Assembly can be extended in case of proclamation of
National Emergency by the President.

{b) The President shall have the power to extend the term of Legislative Assembly
for six months at a time during Emergency.

(¢) The extension of Legislative Assembly cannot continue beyond a period of six
months after the Emergency has ceased to operate.

Which of the statements given above is/are correct ?

(1) Only(a) (2) (a)and (b)

(3) (a)and{c) (4) All of the above
HET SRS ST / SPACE FOR ROUGH WORK
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89.

A

86,  SEEUHERER et W G TP TN AT qiqg A JAfeeR wREl, 2005 =4
(1) g afeeh (2) g gEd
(3) orgysh femd (4) weWT 7
The provision for establishment of Intelligence and Security Organisation’ by the
Central Government, falls under the purview of of the Right to
Information Act, 2005.
(1) First Schedule ~ (2) Second Schedule
(3) Third Schedule (4) Section 7

87. ‘WyER YREys HEE, 1988’ ¥ VR HeH, FIGYS GTIGR TS Hashicl @l SUAT=AT
TEaTeh Gafa S ? .
(1) Had 12 (2) HH9 (3) eH 14 (4) eH 21
Which Section of ‘The Prevention of Corruption Act, 1988’ deals with the offence
relating to bribing a public servant by a commercial organisation ?
(1) Section 12 (2) Section 9 (3) Section 14 (4) Section 21

88, wifedl AR FRIET, 2005 =41 Giclierishl BV Herd Had Afgdl STRRT=AT TRt FEita
R ?
(1) e 45 (2) oW 32
(8) W 6 (4) e 12
Which of the following Sections of the Right to Information Act, 2005 deals with the
Constitution of Central Information Commission ?
(1) Section 45 (2) Section 32
(3) Section 6 (4) Section 12
HAIAHET G 9 G e gaw At 2009 THE @t SO SR, TEw e

UeH® el Trefan gea 3fe ff skl v G Whel T <EW TETEER
1)y =¥ 6,000 (2) T 20,000 (3) ¥ 50,000 (4) ¥ 1,00,000

As per Right of Children to Free and Compulsory Education, 2009, any person who
continues to run a school after the recognition is withdrawn, shall be liable to fine
which may extend to

(1) ¥ 6,000 S (2) T 20,000 (3) < 50,000 (4) T 1,00,000

HTET SIS SR / SPACE FOR ROUGH WORK P.T.O.
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90. AT TFF =B © HeAT=H] HRUTEAS TETRIT HIAl ST ZI0TR HIaE! ARER,

(1) TIHsH SHE
(2) wei=a FEW 17 gR ‘STegwEar
(3) mewm(mm)m 1989 =0 we@W 3 gR

(4) aﬂaﬂeﬁwﬂﬁ?@

Civil rights means any rights accruing to a person by reason of the abolition of

(1) Ejusdem Generis

(2) ‘“Untouchability’ by Article 17 of the Constitution

(3) Atrocity by Section 3 of the SC and ST (Prevention of Atrocities) Act, 1989
(4) None of the above

91, gt daF fufEm, 2000 aia EfRRw <8

(1) T 25,000 YT FTEq T (2) T 50,000 5T AT T
(3) ¥ 1,00,000 I8 ARG ATE (4) ¥ 1,00,000 U= IRG TR
Residuary penalty provided under the Information Technology Act, 2000 is
(1) not exceeding T 25,000 (2) not exceeding T 50,000
{3) not exceeding ¥ 1,00,000 _ (4) more than ¥ 1,00,000
92. ‘THE 41 VsErHl ST 9Aiat MU e, 1986 = T AT AT
AR,
(1) e 2(b) (2) weW 2(a)
(3) e 2(c) (4) oW 2Ad)
The term ‘Environment’ has been defined in ' of the Environment
Protection Act, 1986.
(1) Section 2(b) (2) Section 2(a)
(3) Section 2(c) . (4) Section 2(d)

93. Ul Fa waw fufEm, 1955 = wEW 2(a) FER PR wEE A A4 dfqumren
R “yrogmmar’ A% $od SR TErn ohien feeen svad aftmr of
MR,
(1) F=8% 14 (2) =T 15 (8) =g 17 (4) =32 16

According to Section 2(a) of the Protection of Civil Rights Act, 1955, “civil rights”
means any right accruing to a person by reason of the abolition of “untouchability”
by of the Constitution.

(1) Article 14 (2) Article 15 (3) Article 17 (4) Article 16
OEAT SIS ST / SPACE FOR ROUGH WORK '
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51

framae, wiévE 9 S% T FEEY AR,

(L
(2)
(3)
(4)

According to

<haad 2(c)
=hatH 2(b)
*hetd 2(aa)

hetH 2(e)

E15

AR “giee” 9 faamding, WeERH,

of the Protection of Civil Rights Act, 1955, “hotél” includes

a refreshment room, a boarding house, a lodging house, a coffee house and a café.

(1
(2)
(3)
(4)

Section 2(c¢)
Section 2(b)
Section 2(aa)

Section 2(e)

95. UFEl g 9o AfYfEn, 1993 FTa TST U v ST quT=as FAadid.

@
2)
3)

@

Yo 1 A I
ferdw =nfier el
T&q HETR geTieen

Under the Protection of Human Rights Act, 1993,
the State Human Rights Commission.

(1
(2)
(3)

(4)

Retired Chief Justice or Judge of a High Court
Chief Judicial Magistrate
Special Judicial Magistrate

Chief Metropolitan Magistrate

is the Chairperson of

ol HHTATE! SN / SPACE FOR ROUGH WORK
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i fqum faamoa o
famaI: g I 3 g, T (SRR Siiawes) stfufim, 1989maﬁam1%m€f
e 3 JER EE o T

o I: oF. I 3 oy, Il (TR faeys) sAfufm, 1989 siria e =maem
RO T 8 Ieid AR e e @ e 8.

Tt I

(1) faum 1A=, 11 9%
(2) foum II <=, 1 9%
(3) T foum s onda

(4) o faum <% amRa

Consider the following statements :

Statement I: Under the SC and ST (Prevention of Aﬁrocities) Act, 1989, atrocity
means offence punishable under Section 3.

Statement [1: Under the SC and ST -(Prevention of Atrocities) Act, 1989, Special
Court means a Court of Session specified as a Special Court in
Section 8.

Answer Options ;

(1) Statement I is correct, II is incorrect
(2) Statement II is correct, I is incorrect
(3) Both the statements are correct

{4) Both the statements are incorrect

97.

wErER YiEus F1Ee, 1988 JI=d s TEaEt AT AThd @ Ateaet
(1) CBI <EEAN TS

(2) TEAATEER I o eI

(3) Foes =mardim '

(4) TR =mmfiy

Offences punishable under the Prevention of Corruption Act, 1988, shall be tried by

(1) Judges of CBI Court

(2) Magistrate appointed by the Ministry of Home Affairs
(8) District Judges

(4) Special Judges

FHTEAT BHTATS! ST / SPACE FOR ROUGH WORK
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98. uFlawu G HEel, 1986 <A1 Haq 7 9 17 A FHEErA el guifdE oM 3
(1) T III (2) ¥V
(3) SwTXI 4 I X

Sections 7 to 17 of the Enivironment (Protection) Act, 1986 contained in
of the Act relate to prevention, control and abatement of environmental pollution.

(1) Chapter III (2) Chapter V

(83) Chapter X1 (4) Chapter X
99, YA W& HMEE, 1986 <A el wed faveis T sashit fageh ffan
| AT, T grEaT ST AR o Hetiear wgar oed.

(1) =ew 13 (2) hoH 12

(3) wom 15 @ w1

of the Environment Protection Act, 1986 contains provisions relating to
appointment or recognition of persons as government analysts, their qualifications

and report.
(1) Section 13 - (2) Section 12
{3) Section 15 (4) Section 11

100. ¥ 1947 73 IeUEEIRN Hewe whay nfor wew @1 fyvaeda FGge oy 39-smEme
T Y4 o1 g e,
(1) T 3Em
(2) Wi JaT qieg
(3) W FFH AR

(4) AL AR

The UN sub-commission on ‘The Prevention of Discrimination and Protection of
Minorities’ was originally established in the year 1947 by

(1) General Assembly Commission
(2) Social Security Council
(3) Commission on Human Rights

(4) International Court of Justice
G 21 m ST / SPACE FOR ROUGH WORK ' P.T.O.
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101. @t wFw wor sfufem, 1993 Fata wllEt wERn S AEETER SR

I Ay sEdE.
(1) ST AETag : (2) wEA/AFEE™
(3) fearft = (4) SO HED T

The Human Rights Commission shall have all the powers of a while
inquiring in complaints under the Protection of Human Rights Act, 1993.

(1) Criminal Courts (2) Human being

(3) Civil Courts (4) None of the above

102.  Sighe REMER SM@a, 2005 3 FoR Hom SAaEe SR Geda R ?
(1) oM 16 (2) eH 14 (3) wuH 13 (4) T 18
Which Section of the Domestic Violence Act, 2005 deals with proceedings to be held
in camera ?
(1) Sectionl1l6 - (2) Section 14 (3) Section 13 (4) Section 18

103. “Fioeard TS, faen @ Aok @i Hitar PR RS wg Foad gwen e g

AE).” & AR UsgEE e TR & AR,
(1) == 14 (2) TR 15(1)
(3) =Rg 15(3) (4) =R 16

“Nothing shall prevent the state from making any special provision for women and
children.” This is mentioned in the Constitution of India,

(1) Article 14 (2) Article 15(1)

(3) Article 15(3) (4) Article 16

104. iR ToaTde qoTE SuigaEY et wWeruTSA Wdigh THeel 9gHEA el ‘habeas corpus’
It Eieiied=h! Fiorer Fehond grad Seft gt 2
(1) rqd gamM fa 78 gfa, faar o2
(2) T @RE (4. 1) T IR wm. T (gEne AluEs)
(3) T @A (3. 1) T4 78 wfve, fmr v=a
(4) TRt et fa qurm v, faew s
Under which of the following cases, petition for writ of ‘habeas corpus’ was filed by
number of undertrial prisoners, who were in jail in the State of Bihar for years
awaiting their trial ?
(1) Abul Suleman v/s. Home Secretary, State of Bihar
(2) Husainara Khatoon (No. 1) v/s. R.S. Naik (Superintendent of Jail)
(3) Husainara Khatoon (No. 1) v/s. Home Secretary, State of Bihar
(4) Maneka Gandhi v/s. Investigation Department, State of Bihar
PeeqT HHWIS! ST / SPACE FOR ROUGH WORK
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55 E15
srggfaa st oo st i wEisdien e e denia @reflads! B
g |0 R ? ‘ ( .
faam1: o909 99 9R UEvEEEd WRAE SfauErsan $ed 18 Te) 9ol $ew (11 A)

TTfE FEA el Foara AT

framIl: of@ (= I gevaEEd WRde sfaurrear s 18 79 99 %ad (11 AB)
THIE % GoRil FH0a AT

it 39

(1) faum I w9, faum I @
2y faum I smew, faam I o=
(3) <= faue v
(4) I Rum sme

Which of the following statements is correct in respect of reservation in the matters
of promotion for the Scheduled Castes and Scheduled Tribes ?

StatementI: To carry this out, amendment in Article 18 of the Indian
Constitution by inserting new clause (11 A) was carried out.

Statement II : To carry this out, amendment in Article 18 of the Indian
_ Constitution by inserting new clause (11 AB) was carried out.

Answer Options :

(1) Statement I is correct, II is incorrect

(2) Statement I is incorrect, II is correct

(3) Both the statements are correct

(4) Both the statements are incorrect

1086.

eIy S Waee Gigd, 1966 <A1 ®ed 309 HE T FIT g SR
(1) WERTY T8Ye A

(2) BN Heqe qRug

(3) WERIg "eqd Hes

(4) e wd

Section 309 of the Maharashtra Land Revenue Code, 1966 provides for
establishment of .

(1) Maharashtra Revenue Tribunal

(2) Maharashtra Revenue Council

(3} Maharashtra Revenue Board

(4) All of the ahove

Tl TS ST / SPACE FOR ROUGH WORK P.T.O.



E15

56 A

107. gAY A Wegd |fgd ToR SR wERn HiERIgRET o S, ST {id aRE FHdE $ie,
m FSesfbrerd =g afsamersn aEr wed AT FAFH A 95,

(1)
(2)
(3)
4@

o T
wen afE
% Afed
w4 T wR A

Under the Maharashtra Land Revenue Code, if an occupant dies intestate and
without knowri heirs, the Collector shall take possession of his occupancy for a
period of at a time.

(D
)
(3)
@

Oné year
Six months
Nine months

One year and six months

108. WERIP W9 HEge i, lgﬁﬁwmmﬁmﬂﬁmmﬂﬁéﬁ
wHvrardl fola e s aefarg TsaEEER SAdia et 95a ?

(L
(2)
3
Y]

e 241
@dd 111
elH 248

AT FIEE AT

An appeal shall lie with the State Government against any decision or order passed

by the Settlement Commissioner under which of the following Sections of the
Maharashtra Land Revenue Code, 1966 ?

(1)
(2)
3)
4)

Section 241
Section 111
Section 248

None of the above

THTEIT HHTATSE ST / SPACE FOR ROUGH WORK
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109. wfae fwmmmrg Afwien wEm FREren wem 2(d) @R TR A0 mus @

1) HEm 22 | (@ wem 21

(3) wem 24 (4) e 23

According to Section 2(d) of the Protection of Women from Domestic Violence Act,
“custody order” means an order granted in terms of of the Act.

(1) Section 22 (2) Section 21

(3} Section 24 ‘ (4) Section 23

110. TERTY S Hegw HiEdl, 1966 TR Wielid UM sEcieh %0 :
faam1:  drmy e vegw w@fgdr, 1966 I wow 264 3 TR wEgerew afycrsy
RamIr:  wfrte afe g frar aren squicyfoa arcfas saren asam sfiE o @
wehY Wit TegeTETd! dafeeian snftr Temea JaEeR ITEd.
gt 39 ;.
(1)  Fum I O, fTum 10 5%
(2 Taum I 9=, faum I st

(3) o faum sl

(@) Q- faum 9=

Consider the following statements in respect of the Maharashtra Land Revenue
Code, 1966 : '

'Statement I: Section 264 of the MLR Code, 1966 deals with ‘Liabjlity of Land

Revenue’.

Statement II: The superior holder of land, or in his absence the person actually
in possession, shall be liable in person and property for land
revenue due upon holding.

Answer Options :

(1) Statement I is correct, II is incorrect
(2) Statement I is incorrect, II is correct
(3) Both the statements are correct

(4) Both the statements are incorrect

FFeedT FTHIETS! I / SPACE FOR ROUGH WORK ' P.T.O.
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111,  sfger s a1 HrEE, 1951 wmmmmmm

3T ?

(1) fR.om. srrEm@ fa 4o usw

(2) fewa. maw fa vom" 7

(3) UH.%F. FEErA 9 IR WRY T

(4) AU wEE AE

Under which of the following cases were the questions raised on constitutionality of

the All India Service Act, 1951 ?

(1) D.S. Agarwal v/s. State of Punjab

(2) D.S. Garewal v/s. State of Punjab

(3) M.K. Koolwal v/s. State of Uttar Pradesh

(4) None of the above

112. ‘MWEWWWH&*W@W&%, fordrwa: wsmEeRE
HRATESAT AR FREsEa e s srer g,
g ‘wIneh HrRETE SR i FEaTfaa et
(1 w9
(2) et S
(3) F.di. feew
(4) WH. TG
“Administrative law as a law concerns the power and procedures of administrative
agencies, including specially the law governing judicial review of administrative
action.” .

The above definition of ‘Administrative Law’ has been propounded by
(1) Prof. Wade A
(2) Ivor Jennings
(3) K.C.Davis
(4) M.K. Basu
ol mﬁﬂ'm ! SPACE FOR ROUGH WORK
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113, Gl aHN e &7 :

faama I v sEmmmed 9 fawss’ 31 fagamn ey e A 9 Al

fRam II: ‘T faveae’ a1 w9 sEgEme/smsd e fmior s,

i 3w |

(1) faom I g, faum I s
(2) faum I swe, faum 1 @
(3 T foum

(4) T faum sme

Consider the following statements :

Statement I: Under Administrative Law, the aim of the doctrine of ‘Separation

of Powers’ is to guard against arbitrary powersr of the States.

Statement II: The principle of ‘Separation of Powers’ creates a demarcation

among the three organs of the government.

Answer Options :

(1) Statement I is correct, II is incorrect
(2) Statementis incorrect, Il is correct
(3) Both the statements are correct

(4) Both the statements are incorrect
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114. T JEHE AR ey wiftl s g woeist fageh R et
g,
(1) mmm,w _
(2) TS TeTEh WTfEeRomeaT SqEisfl Geaaead SHearal, TEadt
(3) TEETEN WiHUT AT TEAHITT hedHaT, TFId!
(4) vRgre gr=ATHiETE gedmEed hedHat, TP

The Chairman and every other members of the Central Administrative Tribunal
shall be appointed by the

(1) President after consultation with Prime Minister

{(2) President after consultation with Head of the Administrative Authority in the
State

(8) President after consultation with Secretary of Home Affairs
(4) President after consultation with Chief Justice of India

115, @rciia fauHs sEe= U :
faam I  Tead wi TR w9 % o (FEER ) a1 G Sl .
faam I ol s I S sieEnd geeRidatier sTeaHT e @ dsher Rt
‘ el
qaret I
(1) < foram < ammea
(2) faum I U= 318, ol faum 11 9% 318
(3) 2rd faum ==t amRa
(4) faum 1 9% R, W faum 11 U=t ame

Consider the following statements :
Statement I: Edward Coke has originated the concept of Rule of Law.

Statement II: A.V. Dicey later developed this concept in the course of his lectures
at Oxford University.

Answer Options :

(1) Both the statements are incorrect

(2) BStatement I is correct, but statement II is incorrect
(3} Both the statements are correct

(4) Statement I is incorrect, but statement I1 is correct

TR HHTEIS! AR / SPACE FOR ROUGH WORK
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wrelie faur foame
(a) TSIEETAI Gos Well o Wi T 286 Heea 26 g, 1949 USH T e,

(b) & =nfr Foft smn =0 wda fficien W TsTae=a g wdl uped s
TER Fame) 9w e ww@en Fa wed aewr oA,

() WA Tsagen 39 fagrd TR YEener I W starea fafdere ang.
warht 39 ; '

(1) T (a) TR, (b) I (¢) P

(2) Taam (b) 0P (¢) TR, (a) TN

(3) faum (c) TR, (a) 21T (b) THR

(4) ud fqum |

Consider the following statements :

(a) The original copy of the Indian Constitution was signed by 286 members of the
Constituent Assembly on November 26, 1949,

(b) Original copies of the Indian Constitution, written in both Hindi and English,
are kept in a special helium filled case in the Durbar Hall of the Rashtrapati
Bhawan.

(¢) The Indian Constitution was handwritten by Prem Behari Narain Raizada.
Answer Options : '

{1) Statement (a) is correct, (b) and (¢) are false

(2) Statements (b) and (c) are correct, (a} is false

{3) Statement (c)is correct, (a) and (b} are false

(4) All statements are correct

117.

T Fe AT APieEih o @ THAHAT GO AT THIET GEATS! Tt JuATe SATawaH
TR 2 PR T TN HIVedl Geedla e gt ?

(1) TR EeeT (2) EUHA SO GeAT
(3) AT W W (4) Prreet feg @een
In which case did the Supreme Court take the view that the Fundamental Rights

and Directive Principles are complementary to each other and there was no need to
sacrifice one for the other ?

(1) Golaknath Case (2) Champakam Dorairajan Case
{3) Kesavananda Bharati Case (4) Minerva Mills Case

O] FITHIGI SR / SPACE FOR ROUGH WORK P.T.O.
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118. g g rfutemmema wefie fRus faenm wn .
(a) ¥ &G 1 [, 2010 TS JHA AT
(b) mmﬁﬁrmawmmmﬁmﬂaﬁmwm
(c) 1 HFEH ST WS RO TR 33% ST A1 wIfoeR g dfva anfer anfde
(d) T S AT AR AT e ahr fHarer o=t ardlar TR,

Tt FvR RuEA st sme/a 2
(1) (a), (b), (c) T (d) (2) %= (c) 2o (d)
(3) % (b) anifor (d) (4) % (d)

Consider the following statements about Right to Education Act (RTE) :

(a) The RTE Act came into effect on 1% June, 2010.

{b) The RTE Act made India one of the 135 countries to have made education a
Fundamental Right.

{¢) The RTE Act mandates for all private schools to reserve 33% of their seats for
children belonging to socially disadvantaged and economically weaker sections.

{(d) The RTE Act is justiciable and is backed by a Grievance Redressal mechanism,

Which of the statements given above is/are correct ?

(1) (a), (b), (c) and (d) (2) Only (c) and (d)

(3) Only (b) and (d) (4) Only(d)

119. nﬂaﬁawﬁmmugggﬁﬁ)ﬁﬁw,zomwmﬁﬂaﬁwﬁﬁmmw:
(a) a1 fadwwm AEE WA A oM ) gatE e Y Edl fhar date
AT AR Ufgeiel! SRRl T AEaitERr AT AR eI,
(b) o fadeea reft W A et SR F A TR R SEded 9 safe iy
HASTHHR AR qe6 Tevd fgeht eft srda =i e us ufden @w.
(¢) o1 fygumm 213t atqe FwaEa el IR H TP ArTHEE AT Tewe, UER e
& &I AN 3T 9T SREEdE BT YW @ UHY AMaieR SR veftg

EE I
et R fuFA sde s/ 2
(1) % (a) @) @A’ b @ dAawEe @) AT
Consider the following statements about the Protection of Human Rights
(Amendment) Bill, 2019 :

(a) It provided that a person who has been Chief Justice of the Supreme Court or a
Judge of the Supreme Court will be the Chairperson of National Human Rights
Commission.

(b) It provided for three persons having knowledge of human rights to be
appointed as members of the NHRC out of which at least one shall be a woman.

{c) It provided for Chairpersons of National Commission for Backward Classes, the
National Commission for Protection of Child Rights, and the Chief
Commissioner for Persons with Disabilities as ex-officio members of the NHRC.

Which of the statements given above is/are correct ?

(1) Only (a) (2) (a)and(b) (3) (b)and (¢) (4) All above
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120, @ faae fERw o=

(a)

(b}

(c)

(d)

aﬁazlAmma@ﬁmﬂmmﬁmaﬁw
arfufem 2009 wvaa 1.

i fen anfh amfas e, faswsa gronht fiesavar sfor 2onft yees AR freomsn
arftrsr aiffim 2009 gR 94} avaia el SR,

mmqmmmmmmmmmmm
arffEm 2009 weA oTR.

ﬁmaﬁwaﬁ:ﬁmgﬁnmmwﬁmmmﬁwamm%
TS AT @ TR B o6 =S¥

FHATHR Hiorg FuT T0= oG ?

(1)
(2)
(3
(4)

(a), (b) 31T (¢)
(b), (¢) 3mfor (d)
(a), (b) 3T (d)

e g4

Congider the following statements :

(a)
(b)
(e)

(d)

The Right to Education (RTE) Act of 2009 was enacted to implement the
constitutional provision under Article 21-A.

The RTE Act of 2009 prohibits physical punishment and mental harassment,
private tuition by teachers and capitation fees. ‘

The RTE Act of 2009 makes provisions for non-admitted child to be admitted to
an age appropriate class.

Amendment of RTE Act of 2012 declares that the provision of RTE Act shall
apply to Madrasas and Vedic Pathshalas also.

Which of the statements given above are correct ?

(1)
(2)
(3)
@

(a), (b) and (c)
(b), (c) and (d)
(a), (b) and (d)
All above
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121. areher oy frs o - 7 |
(a) WW,%WWM@W%WWWW%@

IYUPIH! Tpadi=h HE G ITg AHd.

(b) TP Fegr =1 FeA (FH) IR g NHUR TEwa ¢ Fafta st vga afvamme s

(c)

fetedt T,

Tgodt Fogl AU HA R 9Tg WHUR T ¥ Stavarn sfeew 3w e

‘-'N‘i'ﬁﬁ?ﬁﬁ
(1) Taum (b) 0 (¢) SO, (a) T

(2)
(3)
4)

e (a) afi (o) W=, (b) %

faum (a) a7f01 (b) s, () TF

g4 faum Sten aed

Consider the following statements :

(a)

(b)

{c)

The Vice President of India shall diséharge the functions of the President when

the President is unable to discharge his functions.

No procedure has been prescribed by the Constitution to determine when the

President is unable to discharge his duties.

The power to determine when the President is unable to discharge his duties

belongs to the President himself.

Answer Options:

1
(2)
(3)
(4)

Statements (b) and (c¢) are correct, (a) is false
Statements (a) and (¢) are correct, (b) is false
Statements (a) and (b) are correct, (c) is false

All statements are correct
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wrefte faum e =

(a) wRarem UEAdE mEEETen WhRAGR Ugee @ el Wq WiEd. Wi gfeiEnet
T8 61 AEA e s onftn srhriymar & S O TG oAl oEd.

(b) wERMENTET 3UE dETT AR FUTEEE) R aETaR TeE B STavas S TN
Yes HOFRTSAT TN A9EE Fed=a (Fm=n Qe SRa) 9gHar o1l g T HagH
FO] G-I WA= FEATH.

gy I ;

(1) faum (a) SO (2) faum (b) T
(3) I favm Tu= (4) 6 faum h=h

Consider the following statements :

{(a) 'The President of India can be removed from office by a process of impeachment.
The only ground for impeachment specified in Article 61 is misbehaviour and
incapacity. :

{b) The impeachment resolution must be passed by a special majority of each
House of Parliament, i.e. majority of the total membership of each House and a
majority of not less than two-thirds of the members present and voting.

Answer Options :

(1) Statement {a) is correct - (2) Statement (b) is correct

{3) Both the statements are correct {4) Both the statements are false

123.

HERIETAT “EIh 3w dlad @ieiia fquH fomamra e

(a) WENIY W A M0 IU-eeh Nges Al 1972 7ed o1 Geh %, Afer snfh
AfFR &7 g H IR

(b) & Ten 25 ATRIR, 1972 WA i@ . |

(c) mmmww@@a@a(suomom)maﬁwm

(d) & wTen WENgR WU FERG FAEd.

Fhedfl B M aﬁat 3TEa ?
(1) =fawd (2) (a) M1 ()
(3) (b) amfur (d) ‘ (4) (b, (c) =mfur (d)

Consider the following statements about ‘Lokayukta’ of Maharashtra :

(a) The functions, powers and jurisdiction of this institution are laid down in the
Maharashtra Lokayukta and Upa-Lokayukta Act of 1972,

(b) This institution came into being on 25" October, 1972.

{¢) This institution has no power to take suo-moto cognizance of the issues of
public interest.

(d) This institution functions as a watch-dog.

Which of the statements given above are correct ?

(1) All above (2) (a)and (c)

(8) (b)and(d) (4) (b), {(c)and (d)

JreEqT BTATHIE! ST / SPACE FOR ROUGH WORK P.T.O.
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124. YW 39 Ugadtean FHasvEad SeaRe T o gafae wfE s,
(1) HIv@E 50 AT (2) =g 10 Fatm Tea™ gea
(3) HrEE 20 Fraftea dee™ waE (4) VS 25 @EE TG
The name of the candidate for the office of the Vice President of India has to be
proposed by .
(1) Any 50 citizens (2) Any 10 members of Electoral college

(3) Any?20 members of Electoral college (4) Any 25 members of Parliament

125. - ufshae sed @refiertht v T Shea 3R ?

(1) =i Aihgar 81 WIsg SREFTHR AT SRR SFF=r Tt 1947 7ed Tar el g,

(2) 7 Y=g AR HAdETEE IrEnfvren awdfas e anscen e aoH
FOATETS! TR A1E, Il '

(3) T Ulshad g8 IEATSNT SrEYgdIat Tafe Jam.

(4) Ot g Tl '

‘Which one of the following statements regarding judicial activism is incorrect ?

(1). The term judicial activism was coined by historian Arthur Schlesinger Jr. in
1947.

(2) The term may be used to describe a judge’s actual or perceived approach to
judicial review.

(3) Judicial activism limits the functioning of the government.

(4) None of the above

126. SFfa s Hewia’ WeliadsHl S fagm w18 ?

(1) SHiga Tt v SR TRNg S .

(2) SHfga e & amfoes aSgame il SR 59 TEEEd il SRR 9 e

(3) TS TEHYFT AR, TRATH WTieRe fol Hivedt @rntt ganfasg sHfga arkem
TES Heft AT I,

(4) oo wwd T

Which one of the following statements regarding ‘Public Interest Litigation’ is

incorrect ?

(1) PIL is not defined in any Act.

(2) PIL is an important instrument of social change and for maintaining the Rule
of Law and accelerating the balance between law and justice.

(3) PIL can be filed against State/Central government, municipal authorities and
any private party. '

{4) None of the above

| 9SdT SIS 9T / SPACE FOR ROUGH WORK
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127. Qe faae e @i

(a)
(b)

(c)

(d)

aﬁz%mammmmmﬁwﬁﬁwwm
TEBE-3 ¥ WA WO ATREE  Eced Tvdred] WAHSH AYE SRS

ATRAOITET ST 3112,
FYTRRH AT,

Fheh! S faum/A slex FR/A ?

(1
(2)
(3)
(4)

%l (b)
(a) aTfT (b)
(b), (¢) 3101 (d)
T =&

Consider the following statements :

(a)

(b)

(c)

(D

Article-2 relates to the admission or establishment of new states that are not
part of the Union of India.

Article-3 relates to the formation of or changes in the existing states of the
Union of India. J

State Legislature has the power to reject the changes brought in its area, name
and boundaries by the Union Parliament of India.

Parliament of India is bound to follow the suggestions of the‘state legislature in

the matters related to the state boundaries.

Which of the statements given above is/are correct ?

(1)
(2)
(3)
(4)

Only (b)

(a) and (b)
(b), () and (d)
All above
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128. Sl @l — (TsuHid Anless aw=)

‘A’
(a) Tige Nieed
(b) T AR wee
(c) TP WIRHR TIET
(d) ETRIFIRE ~ATTeETE g
i T |

(a) ®) (e (@)
L @ (iv) (ii) (iii)
@ v G (i) (iii)
(3 Gi)  Gv) (ii) @
@ Gv i) (ii) (i)

B
(i) FF=T 50
(i) =T 49
(iii) =0T 40
(iv) 3Ig=RT 48

Match the pairs = (Directive Principles of State Policy)

A

(a) Prohibition of cow slaughter 1)
(b) Organisation of Village Panchayat (ii)
(c) Protection of National Monuments (iii)
(d) Separatioﬁ of Judiciary from Executive (iv)
Answer Options :

{(a) (b) {ec) (d)
1 @ (iv) (i1) (iii)
(2). (v) (ii) (1) (1i1)
(3) (iii) (iv) (ii) (i)
(4) () (111) (ii) ) |

‘B’
Article 50
Article 49
Article 40
Article 48

FEEqT HHIS! SR / SPACE FOR ROUGH WORK
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129. GIeEie ardiar 90T H0 AET — (A Fd53)
(a) UYAS I YT G- 0
(b) Azfrn i, aHaaERET faFE| w0
(¢) afifs wEiawom ww s

(d) g 491 O

it I

1) (a), (), (o), d) (2) (@), ), D), ©
(3) (a),(c),(d), ) 4) (a),(d), (c), (b)

Arrange the following in appropriate order — (Fundamental Duties)
(a) - To respect the National Flag and National Anthem

(b) To develop scientific temper, humanism

(¢) To protect natural environment

(d) To render national service

Answer Options :
(1) (a), ), (@), (2) (a),{d), (b), (©)
3 (a),(e), (d), (b) 4) (&), (D), ), )

180. wrefles o faam st s ?
(a) mmﬁﬁaﬁ—rl%aﬁﬁaﬂ%mﬁwnm)mm
(b) WRaE UYHE W (National Language) T,
(c) wem e g wed &l -gwht wg 22 wrwr wwifaE e
(d) 2011 =q1 SFVFFER, WA Faifed Seredn smom=n 3w e (1) & (2) s,

anfvy (3) afirss.
agrdt It ;
T (1) (a) afir (b) (2) (a), (b) aTf (d)
(@) (c) anfr (d) (4) aba &

Which of the following statements are correct ?

(a) The official language of the Union shall be Hindi in Devana.gan script.

(b} India has no national language.

(c) At present, the Eighth Schedule specifies 22 languages including Hindi and

English.

(d) As per 2011 Census of India, the top 3 languages spoken in India are (1) Hindi
(2) Bengali, and (3) Tamil.

Answer Options :

(1) (a)and (b) (2) (a), (b)and (d)

(3) (c)and (d) (4) All above

TOEYT HITEIS SR / SPACE FOR ROUGH WORK P.T.O.
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I Y ASEl —

(1)
(2)
(3)

(4)

THArT e A € Uh R Gauif® den .

TeSuEh ST T 25 SMEr!, 1950 Tsh se.

16 3T, 1990%%@@&?%&@%&3@@%&%%%
S

Select the incorrect statement —

(1)
(2)
3)

(4)

Election Commission of India (ECI) is a permanent constitutional body.

The Election Commission was established on 25 January, 1950.

First time two additional commissioners in ECI were appointed on
16h October, 1990.

The President appoints the Chief Election Commissioner.

132.

AT HY HBET —

(a)
(b)

(c)

gfear ek a1 AT 9 1 AT, 1926 TS !,

Aty Siegmr=n ST 311 JaR WY ok ¥4l SENTAl UH STAE 9 10 "W

TEdiE.

Y e Hal AT ASAETS 441 9 Wdl w1 69 @eh d91 oM w1969 AR

e .

et I

1)
(2)
3)
(4)

Bad (a)

% (b)

Had (c)
R

Select the incorrect statement —

(a)
(b)

(c)

The first Public Service Commission was set up on 15¢ October, 1926.

Under Article 311 of the Constitution of India, the Union Public Service
Commission consists of a Chairman and 10 members.

The terms and conditions of service of Chairman of the UPSC are governed by
the UPSC regulations 1969.

Answer Options :

(1
(2)
3)
4)

Only (a)
Only (b)
Only (¢)
None of the above

ey BETATS! ST / SPACE FOR ROUGH WORK
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183, 3TEIY A s — ' ,
(1) T A g SR T AR, 1993 wed gl
(2) udr A wEw AT sremgTEl Py aged gR Sl oW,
(3) THE TP WEY FEAUHER G St Fam fEmi = 99 temr ade
AHE! g6 STRITIET JTEdie.

(4) AFE TFF W FE, 1993 = HeW 30 HEY UHE WA TR AR onfe
TR T Sl .

Select the incorrect statement — _
(1) National Human Rights Commission (NHRC) was established in October, 1993.
(2) The Chairperson of NHRC is appointed by the President.

(3) While inquiring into complaints under the Protection of Human Rights Act, the
NHRC shall have all powers of civil court. '

(4) The Financial autonomy of the NHRC is spelt out in Section 30 of the
Protection of Human Rights Act, 1993, ‘

134. Uy ufaen 2@ awdieE oW 3 T @a: TR SEE R, T 39T S 3R
(a) WigEET g1 T Sfa 30
(b) wikereaT GRavTATE FA FEUrE ATt T FO
(¢) HATH I IFeA
(d) unHa T famm 3ty e FoaEdt Faea FrEEh SmeESETh T F

gt I ;
(1) %= (a), (b) (2) & (c), (d)
(3) w= (a), (b), (d) @) % (a), (0, (d)

The National Commission for Women looks into complaints and takes suo-moto
notice of matters relating to:

(a) Deprivation of women’s rights

{b) Non-implementation of laws enacted to provide protection to women

{c) Violation of the provisions of the Constitution

(d) Non-implementation of laws enacted to achieve the objective of equality and

development
Answer Options :
(1) Only (a), (b) (2) Only (), (d)
(3) Only (a), ), (d) (4) Only (a), (c), (d)

T FFTEIE! AR / SPAGE FOR ROUGH WORK P.T.O.
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135, AT Fu ASET — (VTHEAT =)

(1) g — U9 vaumaEa 1983 v &g G f-agefiy s Aner gar.

(2) IIR.UH. THHET, Gar= Ao d9REgT Iy, ] 3R areay g,

(3) TN ATFISE, 1986 Wl ATYHAT g HIET hetl.

(4) . RremE 3 1. @R A9 B T @E BN

Select the incorrect statement — (Sarkaria Commission)

(1) The Central Government appointed a Three-member Commission in 1983 on
Centre — State relationship.

(2) The Chairman of the Commission was R.S. Sarkaria, a retired judge of the
Supreme Court.

(3) The Commission submitted its report in October, 1986.

(4) B. Sivaraman and Dr. S.R. Sen were members of the Commission.

lm'aﬁa'wmmﬁ%wmwﬁmagﬁmmmzwﬁvh%am&mﬁ :
TIEEHA HOAET AfHR R ? .
(1) ¥3F=R% 130 (2) IFDT 132 (3) SH=BQ 135 (4) 3% 137

Under which article of the Constitution of India does the Supreme Court have the
- power to review its own judgements and orders ?

(1) Article 130 (2) Article 132 (3) Article 135 (4) Article 137

187. TOQ SdoAreAl Geula HIvEI/HIo FYT T ATR/ATRT ?
(a) o5 WU Yeryq Sedeais aXg didl.
(b) 42 T UTAGEEAIER WS TeAHSa AT ‘A’ B AT AU AT,
(¢) ¥ 2002 79 TF Yenu[d Fds7 A ASHTd ATl

(d) gﬁmmﬁaﬁaﬂmmﬁ%maﬂhﬂﬁmgﬁmﬁmqﬁkmmw .t
kI ; |

(1) v (a) (2) e (b) 27fn (c)

(8) W (c) (4) % (c) onf%r (d)

Which statement/statements is/are inconsistent with regard to Fundamental

Duties ?

(a) The original Constitution provided for fundamental duties.

(b) The 4224 Amendment added Part IV ‘A’ to the original Constitution.

(¢) In the year 2002, one more fundamental duty was added.

(d) Every parent will prowde education to their children between the age of

6 to 14 years.
Answer Options :
(1} Only (a) _ (2) Only (b) and (c)
(3) Only(c) (4) Only(c¢)and (d)

EEGT WHTATS! ST / SPACE FOR ROUGH WORK
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138, WRAN HfauHE FAel TSGR
(a) 10e TeTgERt — FEU, TN FAA W WA wHiE
(b) 124 weATgERi — TiaT, T M I Wi guTsaTT whid
(¢) 153 TeagEl — I Il AHHEIET FREHS 60 qUEA 62 TE FUAT e
(d) 164 TeTgEE — mmwﬁéﬁawﬁmm%mﬁﬁm |

FeREh HIE N T =n€t ?
(1) ad (a) _ (2) @ (d)
(3) & (a) NPT (b) (4) wEd () anfor (d)

Amendments to the Constitution of India :

(a) 10t Amendment — Dadra, Nagar Haveli included in the Indian Union

(b) 12th Amendment — Goa, Daman and Diu unified in the Indian Union

(¢) 15tk Amendmentl — The tenure of a High Court Judge has been extended from

60 years to 62 years of age _

(d) 16" Amendment — Arrangement of Assembly for Union Territory of
Pondicherry and Manipur

Which of the above pairs is/are not correct ?

(1) Only (a) (2) Only(d)

(3) Only (a) and (b) (4) Only (c) and (d)

189, Qe Hewid 7, 1994 Aifiel SiTd W Feis ~HETer Saeiedl e
(a) TeFEER gwifaOe yfie 99, smr wRarda s od .
(b) TwEed fafey gulasedt siferea/srder TeE.
(©) T vai @ R i a HE

lﬁwwhﬁagr: . ‘
(1) %= (b) (2) wad (b) AW (¢)
(3) wHagd (4) FOTXH Tl T

The role of the Supreme Court in March, 1994 Bommai Case regarding secularism :
(a) State taking an antl-rehglous role, this is not the meaning of Indian
Secularism.

(b) The state should be detached with regard to different religions.
(c) Political parties should not use religion for selfish purposes.
Choose the appropriate option : _
(1) Only () - ‘ (2) Only (b) and (c)
(3 All of the above ' (4) None of the above
FoedT HHNIS! S / SPACE FOR ROUGH WORK ' P.T.0.
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140. ‘SmEEEH FidAEET Gt Hiud faue ste T ?
(1) uh dfeame =i gEideie ggdie s 9uH Fad E.
(2) YRaTE R gAfdeie ¥ S el e ugdt 31 aragr et o8,
(3) =EEEF gEdaET 2 dfaarrem 9 = gfif¥me wAifase Foew sEOiE 9] @S
rehd ATEL

(4) e FfdemTgS Pl sied sedeE YR S dag wEe anfer geer

Which of the following statements about ‘Judicial Review’ is not correct ?

(1) The Constitution of India does not clearly describe the system of Judicial
Review.

(2) Judicial Review in India is governed by the principle ‘Procedure Established by
Law’.

(3) Judicial Review cannot be applied in respect of laws incorporated in the
9th Schedule of the Constitution.

(4) The Parliament cannot pass laws and amendments for overriding the hurdles
created by Judicial Review.

141. Wi Sfaumrea st 258 A HIR TS HWIAT AT IE 7
(a) flger wreda qarh FfdE .
(b) faf¥E et nawsig ftyg T 1.
(©) T UegEdie faareR S For. |
(d) TBUAIER TSHUTHITHAT T FgE HE TSTEhhe qfam.

Iy i e
(1) % (a) (2) %= (b) 3nfor (c)
(3) @ (d) (4) W (a) 3101 (d)

What-is the provision of Article 258 of the Indian Constitution ?
(a) Creating All India Services.

(b) Establish Inter-State Councils on specific issues.

() To enact legislation by Parliament on matters of State list.

(d) To delegate the functions of Central Government to the State Government by
the President with the consent of the State Government.

Choose the appropriate option :

(1) Only(a) (2) Only (b) and (c)

(3) Only (d) (4) Only (a) and (d)
FOEAT BHETETS! ST / SPACE FOR ROUGH WORK
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142. GrEi@th FvE ffd s e g ?
(a) weETl HETSTATETen NieaTed <O, _
(b) anfd=w Drmme udy e G aee w1,
(c) iRt Ioa= oTftn arHaat W
(d) IR T e Rmii g auETEE SIrEdE ITee weT Sul.

oot 39 ;
(1) % (b) 3T (c) (2) % (a), (b) 3fir (c)
(3) e (b), (¢) 3T (d) (4) 0= &d

Which of the following are the objectives of the NITI Aayog ?

(a) Promote full support to Collaborative Federalism.

(b) Incorporate national security interests into economic policies.

(¢) Upgrade the technology and emphasis on capacity building.

(d) To provide a forum for resolving inter-regional and inter-departmental issues.

Answer Options : _

(1) Only (b) and (c) (2) Only (a), (b) and (¢)

(3) Only (b), (c) and (d) {(4) All of the above
143. HaE= AETE SRR 8T

(a) oH 129 G  urasieEt AR

(b) Fo9 134 Gi) - PeE =

(c) oM 136 (iii) S EAMERHT TG

(d) oW 143 (iv) W@ewt gAFvREE oA AR

= A ‘

(a) (b) () (d)

1 @ (iv) (i) (iii)
(2) Gi) (iii) (iv) ®

(3) (iii) (ii) i) ()
4) Gv) )] @Gi) (iii)
Jurisdiction of the Supreme Court :
(a) Article 129 @) Consulting Rights
(b) Article 134 (ii)  Court of Records
{e) Article 136 (iii) Provision in respect of criminal cases
(d) Article 143 (iv) Right to decide cases again
- Match the pairs :

(a) (b) (c) (d)
GO (iv) (i1) (iii)
(2) (i) (iii) v) O
3) Gi) G (i) (iv)
@ v @ (i) (iii)
Co-2ll) FHITRITST STT / SPACE FOR ROUGH WORK P.T.O.
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144, S Srputi= 3reqs onfur Iutend Srudl Iuftd Todiel, at daceAT G Sodhiear sTeRsreT
I AT ?
(1) TSI THTI
(2) U@ IqETId

(3) UFHt
(4) RS qgERE

Who presides over a joint sitting of the Parliament if neither the Speaker nor the
Deputy Speaker of Lok Sabha is available ?

(1) Chairman of Rajya Sabha

(2) Deputy Chairman of Rajya Sabha-
(3) The President

(4) Secretary General of Lok Sabha

145, w@rene faum e o :
(a) ufaam a9 ¥ @ 22 I, 1947 TSN fepa e,
(b) wfgum awd ugfa 24 sHaW, 1949 TS feapa Feat.
(¢) Ty 9 v uizd apudt uE Sf. Teig wEg Fiel 26 9Ra, 1950 Ush fas

Feft.
(d) wfaum g TEee fvEyE 24 IHEE, 1950 TS .
ThAh! Hiord) faam stieR smea 2 -
(1) (a), (b) 31fOT (d) S (2) (a) 0T (d) SR
(3) (b) =T (c) TR (4) (a) 3l (b) S

Consider the following statements :
(a) Constituent Assembly adopted the national flag on July 22, 1947,
(b} Constituent Assembly adopted the national anthem on 24t® January, 1949.

() Constituent Assembly elected Dr. Rajendra Prasad as the first President of
India on January 26, 1950.

(d) Constituent Assembly held its final session on 24" January, 1950.
Which of the statements given above are correct 7
(1) (a), (b) and (d) are correct (2) (a)and (d} are correct
(3) (b)and (c) are correct {(4) (a)and (b) are correct

. @oedT SIETATS! ST / SPACE FOR ROUGH WORK
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146. G faum fo=ma v

(a) WHaMl, 2015 Ry Hifd AT TLET FUATE ST

(b)y Hife s widumETens e AR,

(¢) fifq st durfs geen T .

Uﬂ'i'd’l‘?ﬁ:
(1) faum (a), (b) SR | 2) faum (a), (¢) s0=T-
(3) faum (b), (¢) W= (4) oa faum st

Consider the following statements :

(a) NITI Aayog was established in January, 2015.

(b)  NITI Aayog 18 a Constitutional body.

(c) NITI Aayog is not a Statutory body.

Answer Options : :

(1) Statements (a), (b) are correct (2) Statements (a), (c) are correct
(3) Statements (b), {c) are correct (4) All the statements are correct

147. Wil wiort faum stet amg ? _
(a) TF THYUET AR FCTHTN THIH TAITA .
(b) TSA AHHAT RN AW § HGWATH] HRHeS Ggl aui=l e,
() Ta ST SRR ey ST 65 et TEER T WA
(d) TSI AT TETae gL e Fehad.

T 3@ ;
(1) (a),(b) (2) (a),{c)
3y (a), ) D 4y (b),©

Which of the following statements are correct ?
(a) Chairman of State Public Service Commission is appointed by the Governor.

(b) Tenure of Chairman and members of State Public Service Commission is six
years.

(¢) The Chairman of State Public Service Commission can hold office till the age of
65 years.

(d) The Governor can remove the members.
Answer Options: '
(1) (a),(b) (2) (a)©
3 (@, M), d 4) )
Foeq] THTHIST STFT / SPACE FOR ROUGH WORK ‘ P.T.O.
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148.  YRATST HEARETE] TRV A AR iefiedsh! Hivar Fey gehret a8 ? |
(1) =0 SARF TRade SO I AEeEE 9" 98 ey w5 hee e
(2) < iR ST IE AT G 10 I8 Jfenelt FHae el g,
(8) T ARFY 99 60 IHNIH G THTE.

(4) UgUH=AT Ha ot SEeh) I FREET staeh aifga.

Which of the following has been wrongly listed as criteria for appointment as an
Attorney General of India ?

(1) He must have been a Judge of some High Court in India for five years.
(2) He must have been an advocate of a High Court for ten years.
(3) His age should not be more than 60 years.

(4) He must, in the opinion of the President, be an eminent jurist.

149,  FEa wifed s @efladht v fuaE 56 g ?

(1) 7eg wied ge i Wikt Mg A< A GayaETA AeAgETeta e
forerefiaeT Tgafigh et ww.

(2) O A9 Ug Y= 9§ fohar @l 70 98 Ef dfuda amer s,
(3) <t |fumTers we AT, 7 .
(4) S 2005 WA g WEAT T e IR,

Which of the following statements regarding Central Information Commission is

wrong ?

(1) The CIC and ICs are appointed by the President on the recommendation of
Committee headed by the Prime Minister.

(2) They hold office for a term of 5 years or until they attain the age of 70 years.
.(3) It is not a Constitutional body.

(4) It was established by the Central Government in 2005.
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150. fauni diegmeuia wefiats wu faum st ada ?

(a) Toavrig wiwer e wfdamers d@ear ama.

(b) 1956 =1 T HrREgar w=t P smef.

(c) ﬁuﬁdﬁaﬁwﬁaqﬁwﬂmamﬁ |

(@ i e w R e adter seies R e e e s,
wath I |

M (@), (©

@ (),

@) (a), () M (d)

(4) eyt v

Which of the following statements about Zonal Councils are not correct ?
(a) The Zonal Councils are Constitutional bodies.
(b) They are established by the States Reorganisation Act of 1956.

(¢) The Home M_inister of the Central Government is the Chairman of Zonal.
Councils. '

(d) India is divided into seven zones and provides a Zonal Council for each zone.
Answer Options :

(1) (a),(c)

(2) (a),(d)

(8) (a), (c)and (d)

(4) All of the above

THowd] SIS AR / SPACE FOR ROUGH WORK ’ P.T.O.



80 A

(8) wwyferhued fafim Foem fafire arfie w=t ®=m (6 9%) A, TEYFERReafafta IoRafFat a1 sa@
FEET F= HH Heard d Hd HOIATAT LI HA AR, 3W A TRd F IR IHETNER TE
I erem “ohwmed o= RawRE Tiey FuaeEa dfufam-82” e aEdiger wran
wogE %A T Al S FHTE U a9 RREERAT it/ e T T E9R e e e

IH BN

(9) e TTNRFEE AR fifRe Feeh 3 drcaHal IgaTeT @ TEgRerEl Sa- Al et
Y AU WA AR, W qfaregman Avargei sdeERe sraeat Ieatideer w1
ATRAFEHEHRE T FAERaT o ol ATETaE Y.

. . 201.

. 201.

oTolT YRl
wfift =1e T FWoIEE Foft qE: T S ?
(1) T AR gt 2) ey femarr
(3) T A U @) TS ME

W e A0 I 48) T e Va7 oW o, wmgS W weTs I 43)” B,
AT WIEATATAO 7 F. 201 WS IwwAE “@)” ¥ adm PO sl v
@Y IETEE IR,

® @ @& ©

T UgHR Tgd TEgierhdiel Yeud Wl qEEl ITR-HHT §1 JReTel Eaadiet queeedn
IAfrhale & & TR TEiya ade Uiee Smifhd e grEdEr. gkt
Fad HIeal WITEY SiAe arad, Ui=e an wmdw O |9mas A,
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